F, 9, T UE T AR B 2:2:1:1 F FUW A S
T WEER A1 31 W, 2015 F I feafy fgemm e

ThIT o .
Balance Sheet
Liabilities 4 Assets 4
Sundry Creditors 1,20,000 | Land and Building| 85,000
Bank Loans (against Stock 60,000
mortage of land Debtors 50,000
and building) 60,000 | Cash 15,000
Capitals : Loss 1.20.600
A 70,000 Drawings :
B 65,000 B 5,000
C 30,000 C 25,000 30,000
D 15,000 | 1,80,000 -
3,60,000 3,60,000

= fafr =t wH =1 w9 B T 8fE 1@ e 8 2 80,000
F agel g 'WF 75% W T IWE 50% W TG T

wEER & ffa feafafea o

A oH oo g

HEATIF T AR T

12651/26,500/KD/279

10

et weaferat ffs <fae
4 4
60,000 1,00,000
1,560,000 60,000
50,000 30,000
70,000 80,000

;- \
W@A«%‘o\ Ve Total Pages : 10

BCE/M-17 12651

ADVANCED FINANCIAL ACCOUNTING
Paper : BC-201

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. Question No. | is compulsory
and answers to each part of Question No. 1, should not
be more than one page.

e . FE O W FU WY T 1 st 2, W ues
qm W I TH U Y TR H A AN

Compulsory Question

(atfard uv)
1. (a) Write a short note on Amalgamation of firms. 4
wH & TEme W Haw feoeh fafem
(by What is Exchange Suspense Account ? 4

fafrmg T=fa =@ 59 F8d 7
(c) What is Hire Purchase Trading Account ? 4
fF o =IO @ F g?

(d) Explain Sacrificing ratio and Gaining ratio. 4
M SFOE AR T Wit SO SRy

12651/26,500/KD/279 [PTO.



(e) Ram, Shvam and Moehan are partners in a firm sharing
profits and losses in the ratio of 2 : 2 : 1. Their fixed
capitals were ¥ 3.00.000 ; T 1,00,000 and ¥ 2.00.000
respectively. Interest on capital for the year ended
31st March, 2015 was credited to them 9% p.a. instead
of 10% p.a. The profit for the year before charging
interest was ¥ 2,50.000. Prepare necessary adjustment
entry. 4
W, YA AL WEA AT TR FT 2 ;2 1 F AAE H
dfz8 gU WEEE ¥ ITE T g5 w7 T 3,00,000,
T 1,00,000 ToM T 2,00.000 1 31 HHE. 2015 H
T BF A e ' & fan get R =mE 105 1 OA9E
9% W FETN T FE W W qE T OF AN
T2,50.000 o1 IEYTE THEEA Wafe Hifeg)

2. Write notes on the following :
freAfafeam w foomfnet fafe -
{a) Foreign Branch. 7
et wman
(b Stock and Debtors Method. 8
w=iF g #Er faful
3. Mehta Ltd., Delhi started a branch at Mumbai on
Ist April, 2014 to which goods were sent at 20% above
cost. The branch makes both credit and cash sales. Branch's
12651/26,500/KD/279 2

expenses are met from branch cash and balance money
remitted to Head office. The branch does not maintain double
entry books of accounts and necessary accounts relating to
branch are maintained in Head office books.

Following further details are given for the year ended
3tst March, 2015 :

T T
Cost of goods sent to Cash remitted to head office | 43,000
branch 50,000 | Cash in hand at branch
Goods received by branch on 31,3.2015 2,000

till 31st March, 2015 54,000 { Cash remitted by Head office
Credit sales for the year 58,000| to branch during the year 3,000
Debtors as on 31.3.2015 20,800 | Closing stock at branch at
Bad debts written off 200 invoice price 6.000

Expenses incurred at branch | 12,000

Show the necessary ledger accounts in the books of Head
office and determine the profit or loss of the branch for the
year ended 31st March, 2015. [

e fdo el ¥ 1 atlw, 2014 H TE W ww v
TR w1 o A | 20 vl g R O = s #
I YR AT AhE faET Al 21 wRen 44 # m v
e 9 fea sm 2 a9 oY wym sl w99 &
S 31 v, dEiE A e TR T AT s
Y § HeTd SEvaE WY UNE FEeT # qweE o @
AT W €

12651/26,500/KD/279 3 [PTO.




3t A, 2015 F HME BN A I¥ % fou fyerfete

T 4
e F Y T AT JUH FateE w1 9st
F ATA 50000 T Tews 43,000
e g’ WS A e ¥ I UHE
(31 91, 2015 TF) 54,000 (31 974, 2015 =) 2,000
T4 % IuR fawa 58,000 | T & N W FETg
I (31.3.2015 W) | 20800 | EW ﬁ@_i il
o wm aferfee B | 200 U . 3,000
stfam wfen .
(F9=* 771 M) 6 000
e F g 12,000

TUF FEIE F YRR SEavEE @ 4R e qe
31 W4, 2015 & 99w TH A 99 B few wer w5
ag-gf ot 37 =ifsu

Rashi Ltd. sold 5 cars for a total cash sale price of
T 10,00,000 on hire purchase basis to Vishakha Ltd. on
1.1.2003. The payment was to be made 20% down and the
remainder in four equal instalments together with interest at
7% p-a. compounded annually. The instalments were payable
as follows :

Ist Instaiment on 31.12.2004

2nd Instalment on 31.12.2005

3rd Instalment on 31.12.2006

4th Instalment on 31.12.2007

12651/26,500/KD/279 4

Vishakha Ltd. paid first instalment on due date but failed to
pay thereaftcr. U their failure to pay the second instalment
Rashi Ltd. repossessed three cars and valued them at 40%
of the cash sale price. Vishakha Ltd. charge 20% p.a.

depreciation on reducing balance method.

Prepare necessary ledger accounts in the books of
Vishakha Ltd. 15

I Ed, 2003 F O Ao A fawmen fao = fev w7
TSfd W 5 FR ¥, R 79 TS ge9 T 10,00,000 o)
20 Wiowd wH @ U9 ¥ W) wEE fRed § 7% aifts
= WEd 5 0 em fivd 9 wa 3 o .

et e 31.12.2004 W

THd fFva 31.12.2005 W

Tl fFw 31.12.2006

it fRYE 31.12.2007 W
foremen fero 3 weelt fpwa #1 37 fafy w ymam fen wg
TE TWH R H v gEm ¥ omwwd @) o e @
M W e ' W U e 3 dF wR w1 =y
AfwR H & T qu T yead s fawe g B
40% W fFa T fawmen e worE T vsl ¥ 20%
TftF & femm o s T 2

fammen fdo =t wwl § aEvys @R ARy

12651/26,500/KD/279 5 {PT.O.



5.

Differentiate the following :
Frefafas & s st

(a) Hire purchase system and Instalment payment

system. 8
T w9 ugfa au feea gmam gefql
(b) Revaluation account and Realisation account. 7

YeAEA W a1 gt @l

6. On the admission of a partner why are assets and liabilities
revalued ? Prepare a Revaluation account with the help of
imaginary figures. 15
e Tt & wd 4 vaw s 4 gwfl o ifrt @
eI A fRan S ¥7 Freaftr g #1 wEEa o
UF TR @ R

7. Explain the following :
frefafiad & 99eRET
(a) Insolvency of Partners. 8

TR w1 e g
(b) Realization Account. 7
gefa fawa @

8. X, Y and Z are in partnership sharing profits in the ratio
of 3:2: 1. They had taken a joint Life Policy of ¥ 50,000,
whose surrender value on 1st April, 2009 was T 18.000.
At this time the Balance Sheet of the firm stood as follows :

12651/26,500/KD/279 6

Liabilities T |Assets T
Provision for Deubtful Debts 1,300 |Cash at bank 10,000
Sundry Creditors 15,000 |Debtors 16,000
Capitals : Stock 20,300
X 78,750 Machinery 60,000
Y 70,000 Land & Building 1,20,000

i 61,250 2,10,000
2,26,300 | 2,26,300

Z retires on the above date and the new profit sharing ratio

between X and Y will be 5 : 4. Following terms were agreed :

(iy Land and Building be reduced by 10%.

(i) Out of the Insurance Premium paid during the year
T 5,000 are carried forward as unexpired.

(iii} There is no need of any provision for doubtful debts.

(iv) Goodwill of the firm be valued at ¥ 36,000 and
adjustments in this respect be made without raising a
Goowill A/c; the joint life policy was also not to appear
in the Balance Sheet.

(v) X and Y decided that their capitals will be adjusted in
their new profit sharing ratio, by bringing in or paying
cash to the partners. Z's A/c will be transferred to his

Loan Alc.
Pass necessary journal entries, prepare Capital Accounts and
new Balance Sheet. 15

XY A Z FA: 3 :2:1 ¥ wEEd § andf w1 ey €
IR 750,000 F G S diferdt o g€ 2 g =m
T 1 &b, 2009 ¥ T 18,000 Bl 39 T wH & faea
T e ® # .

12651/26,500/KD/279 7 [PTO.



=T Z amfaat Z
Taq %O W A@EA | 1,300 | % FH AW [ 10,000
fafay IR 15,000 | 3R 16,000
st wi® 20,300
X 78,750 BNIER 60,000
Y 70,000 qff 9 999 |1,20,000
Z 61250 |2,10,000
2,26,300 2,26,300

Tq fafy F Z Sa™ UE0 HE ¥, X T Y F T e

IR 5 : 4 v Frafates o) @ g

() 9qfF IO T F GEI 10% ST M

(ii) ﬁﬁwﬂmﬂ&ﬂﬁmﬁwwbooﬁﬁiﬂ@

(i) Ty T STEEE oo T SavaeRd Fel 2

(v) w4 0 T F gEEA T 36,000 R S SR
fo = T TS T FGEEeT w6 §1 HIH
oo oot off frufy faam o W feend s

(v) X @1 Y 7 frofa fem fF s el 7 U
9-fasrem e | B T foe wEed ¥
T SO see S Mg % Wl Z 6 T
IOF WO TR Y serand w1 & s #

ST wafes aEy 3R It ' gw T ffy faem

TR wifsm

12651/26,500/KD/279 8

9. A, B, C, D were partners, sharing profits and losses in the
ratio 2 : 2 : 1 : 1. Following is their Balance sheet as at
31st March. 2015 :

Balance Sheet
Liabilities 4 Assets 4
Sundry Creditors 120,000 | Land and Building| 85,000
Bank Loans ragainst Stock 60,000
mortage of land Debtors 50,000
and building) 60,000 | Cash 15,000
Capitals : Loss 1,20,000
A 70.000 Drawings :
B 65,000 B 5,000
C 30,000 C 25,000 30,000
D 15,000 1,80,000
3,60,000 3,60,000
The firm was dissolved on this date. Land and Building
were realized ¥ 80,000. Stock realized at 75% and Debtors
at 50%. The positions of partners was as under :
Private Assets Private Liabilities
4 E4
A 60,000 1,00,000
B 1,50,000 60,000
C 50,000 30,000
D 70,000 80,000
Prepare necessary ledger accounts. 15
12651/26,500/KD/279 9 [PTO.



Roll NO. i Total Pages : 3

BCE/M-17 12652

MACRO-ECONOMICS
Paper : BC-202

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt four more questions from the remaining eight
questions carrying 15 marks each.

e . ww uE WA IR Gfvw g dem 1ot 3
e ® 2 T ¥ § fafeRl ) Ww ouw w@
TAF UTE 15 HE H R

1. Answer of each of the following short type questions should
not exceed one page .

frafafar og WA ¥ ¥ 9@F T HSW TE TS A
sfeer € B =R .

(a) Distinguish between Autonomous Investment and

Induced Investment. 4

=a; faw 7 g fam § s =ifsw

{b) What is meant by Real flow and Monetory flow of
Income ? 4

A & Hifes ya' 3 S yaE o = oy 22

(¢} Describe features of Marginal Propensity to
Consume. 4

dram Iedm ggfa #1 favmaet w1 av %
12652/24,100/KD/367 [PTO.



(d) What do you mean by Demand Pull Inflation ? 4
i WE g st ¥ gem = st €7

(e) Difference between Gross Naticnal Product at Market
Price and Gross National Product at factor cost. 4
AR HHA W TFA TLE IUR § WYH a7 T

e T IR § 3 it

What do you mean by Macro-Economics ? Describe the
importance of Macro-economics. 3+12

orfte Ny @ g # sy ® 7 g s &
e H ST ST

What is National Income ? Discuss the income method of
measuring National Income. 3+12

T o 0 Bl & 2 T o™ H A w ey fafy
Ft fog=s wifem)

What do you mean by Multiplier ? Describe the functioning
of multiplier. 5+10

T W TN N AEE € 2 O # wE-FOme w5
=RE HifT)

Explain the theoretical and practical significance of
Keynesian Theory of Employment. 15

TR F F=rm fagm= & s 9o i vew
F1 FUR HifT0)

12652/24,100/KD/367 2

6. What is a Business Cycle ? Explain different phases of a
Business Cv.ic. 3+12
TR 9% ¥ e § 7 U SWNR 9w i fafe=r sewenst
F] gUA Hifg)

7. What do you mean by Fiscal Policy ? Describe its role as
a stabilization policy. 3+12
TRty Ay @ g T iy # 7 e Hifa @
w9 H THS! qfEE ¥ S S

8. Define Inflation. Describe effects of intlation. 3+12
mEesifa w i SfFw et ® awEl ® =
Edisd

9.  What is meant by Monetary Policy ? Describe the instruments
of monetary policy. 3+12
i Ay ¥ w0 wfiym ¥ 7 Ok Aifa ® Iy &5
FRE i)

12652/24,100/KD/367 3
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BCE/M-17 12653

BUSINESS ENVIRONMENT
Paper — BC-203

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

M FA UIF T ® IW N0y gem 1 ofad

1. (&)

(b)

(c)

(d)

(e)

Compulsory Question
(arframd we)

What do you mean by Privatisation ?
i @ omusmt w7 afawr € 2
What do you mean by MNCs ?
FEUE ot @ seE g w2
What do you mean by Environmental Scanning ?
e favewm § oo Fwn Afaug @ 2
Write a note on Mixed Economy.
fafym srefemaen W ool foe|
Explain main objectives of IMF. (5%x4=20)
IMF & &7 el &1 9o &+

12653/22,900/KD/368 {PTO.



Detine Business Environment. What are various factors that
affect Business Environment ? 15

SIS TAEEl T YR F SEETE aEe H
vufae w0 o9 T = E 2

What are the main objectives of Indian Planning ? Discuss

the failures of planning in India. 15

i e & e Ry w3 € 2w § fiem w6
srrFerast & g wi

Critically evaluate Industrial Policy, 1991 of Government
of India. 15

IRE TN H1 sfenfis Hifa, 1991 %1 AT qedie
Hifag)

Write a note on twelfth five year plan. 15

TIREE] dEIEE AT | e =1

What are the functions of World Bank ? Discuss the role of
World Bank in the Economic Development of India. 15

fava d% & T o9 & ? 9@ % s faww ¥ fage 3%
T INEA SRy

What do you mean by Fiscal Policy 7 Evaluate various
fiscal policy reforms undertaken by government. 15

ToHRYE Ay § sge =1 e ® 7 'R g R T
fafs= Toerdm guil &1 gemed wi

12653/22,900/KD/368 2

8.

Explain the advantages and disadvantages of WTO
for India. 15

g & fau wTO = o9 9o gifqal &1 =3red w1

'Foreign Investment plays a significant role in the
economic development of a developing country." Explain
this statement and give suggestions to increase the inflow
of foreign investment. 15

‘v 3w # onfuw fowm § fRel fEw oewyt
frr s 21 36 S ) sren W o fagyh fem
% oI W EE 3 % fau gEe 3

12653/22,900/KD/368 3
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BCEM-17 12654

ORGANISATIONAL BEHAVIOUR
Paper — BC-204

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory,
which comprises short answer questions of 4 marks.
Candidates are required to attempt four questions from
remaining eight questions carrying 15 marks each.

M . F;W U W B IW AU T wen | afEE
food 4 ofF (TO®) ® ogswig wA ¥ 15 i
(YIF) a1 99 o3 W 6 ¥ ufen | v
0 T

Compulsory Question
(attEmd wv)
1. Short Answer Questions :
ST T
(1) Significance of Organisational Behaviour.
HTeHE e H &7

(i) Explain the concept of Perceptual Selectivity.

eI SoAHar F o Fil

12654/22,800/KD/369 [PT.O.



(iti) What is Stereotyping ?

wigarfam = & 7

{iv) What is Stroking ?

2w g &

(V) What is Organisational Climate ?

ANSATHS ARl 7 & )

(5%4=20)

What is Organisational Behaviour ? Discuss the various

approaches to study Organisational Behaviour. 15
HISTHE TTER § g T € 7 Wt saen
&%ﬁu%@?ﬂgsﬁ&ﬁﬂ@a%e

What is Personality ? Explain the faciors influencing the
development of personality. Also Explain Psycho- Analytical
Theory of Personality. (446+5)

ﬂ@mﬂmﬁwwﬂ@mﬂ%gﬂﬁ@m%mﬂ
iﬁ%ﬁg*ﬂﬁﬁﬁ%ﬂﬂdﬂﬂgg
F1 =T Fif

What is Learning ? Describe in brief the various Theories
of Learning ? 15

%@ﬂﬁqu%ﬂa@?ﬂaﬁiﬂﬁ%mﬂr
Fifem)

12654/22,800/KD/369 2

What do you mean by Stress ? Explain its features and
causes, 15

ﬁm@%ﬁﬂﬁ?ﬁwﬁmﬂﬂgﬂ&mﬁ
ﬁ%%ﬂ@ﬁﬂwﬁ_

What are the Group Norms, Explain its features and also
discuss types of Group. 15

ﬁﬁﬂﬁﬂﬁmwﬁﬁgﬁﬁﬂrﬂmgﬂﬂ
F YW W oavi )

What is the concept of Transactional Analysis ? Explain its
main features, 15

ﬂmﬂaﬂﬁaﬂﬁ,ﬁmﬁjﬁwwﬁﬂm@gﬁﬁ
F [ Fifsm

(a) Explain the Perceptual Mechanism.
SAeAETE fEamfafy @ g Fifau;
(b)  What is Socialisation 7 Discuss its process. (8+7)

ﬁ%gﬁw.vﬁ%qgﬁﬂwﬂ%ﬂ

What do you mean by Organisational Health 9 Explain the
factors affecting it, 15

ﬂﬁﬂﬂﬂﬁ@%ﬂﬁﬂmwwﬁnﬁﬂmﬂﬂ
A e F Ao i)

12654/22,800/KD/369 3



Roll No. .. Total Pages : 2 3. Explain MIS, its parts and principles of Design. 15
TASEUE. (MIS), 9% 9 o feomn = fagd =5
BCE/M-17 12656 AT
IL.T. AND E-COMMERCE

Paper : BC-206 4. Explain use of Internet in Business processing
applications. 15

Time : Three Hours] [Maximum Marks : 80 farm JRfeT T ¥t § STEm ® SEeR
Note : Attempt any five questions. Question No. 1 is compulsory. 5. Explain Electronic Payment Systems. 15

Ae ;R uitw vl & I S et v # sfw wEE mﬂ%ﬂgﬁiﬂﬂﬁﬂﬁﬂ_
UNIT-I (3&TE-1) 6. Define EDI, its Components and Implementation. 15
1. (a) Abbreviate : I (EDI), 39 Wi aon fwaramm & uftwfd
M& 9 940 ﬂ.@.ﬂ_

MIS, WWW, B2C, EDL
(b) Name four ways of Cashless Transactions.

ﬂ_ﬂ AWd. %Iwﬂ. % o d&ﬂ%ﬂu %. A 49d mﬂ_ Business. 15
(¢} Name four Search Engines. Hiargel 9 7o TS AR § TH SYE i gRenfi
CUECER-SE I S )
(d) Define Data, Information and CBIS.

A T W= e uy. 1 aftfad Ffem)
SR METH. (CBIS) #i 8. Write notes on the following :

(e) Name four applications of Internet in Business.
. : frfafes w A fafag .
R ¥ 3742 & O I R ORI (4x5=20) .

(a) Internet Security.

7. Define Mobile Commerce and its usage in Modern

2.  Define Information, Types of Information and use of e R
Information in Business. 15 {b) E-Goverance. 15
T, = F TFER TN FWOR H GOA H QA H E-TTEAd|
wfesfa =ife)

12656/23,000/KD/220/Trans. [PT.O. 12656/23,000/KD/220 2



8. (a) What do you mean by Logic gates ? Why are NAND
and NOR gates called Universal gates ? 7
AT @ | =1 747 o1d & 7 NAND 99 NOR
ew # gfHd T8 F& Fer W@ 2 2

(b) Design a logic circuit for the following Boolean
expressions : ]
i) Z=(X+Y) X+D
(ii) Z=AB+CD+EF.
frafafas aferm FHwTl # fou wE wfEE ghEe
#F1 fesrga sawT
)  Z=X+YV) X+D
(i) Z=AB+CD+EF.

9. (a) What is Decoder ? Explain the working of 4:16
Decoder. 10
fewret w0 B € ? 4 16 fEHE F wHrEdyore
HHARU

(b) What is Full Adder ? Write its truth table and its logic
diagram. 5
T TS 1 B € ? TEFE TG Al g4l At
fea fafem)

12663/950/KD/221 4

Total Pages : 4

12663

BCE/M-17
COMPUTER APPLICATION

(Computer Fundamental and Logical Organisation — II)

Time : Three Hours]

Paper : BC-205

[Maximum Marks : 8

Note : Attempt five questions in all. Question No. 1 is compulsory.

T ;. FH/F U T H SW AU weE gem | s #

(b)

(c)

(d)

(e)

Compulsory Question
(AfErd 9w
Derive Product of Sum (POS) expression from a truth
table.

TF T A g1 9 & 3¢9 (POS) FHEW i
I i)

Explain the types of ROM.

T (ROM) & Y H TR

What do you mean by Combinational Circuit ? Explain
its characteristics.

A ofgy | emue 0 oo ® 2 TEet favmwand
HHHAET|

What do you mean by race round condition in
flip-flops 7 How can you solve it ?

Eﬂaﬁﬂwﬁdﬂwg@ﬁﬂﬁﬁﬁw ?
T T HY T H FHA € 7

Explain various applications of shift register.

fire e & fafirs srwar =+ amemE

(5x4-~

12663/950/KD/221/Trans.



(a} Explain the terms :
(1) Boolean Variables.
(i) Boolean Operations.
{i)  Boolean Functions.
(iv)  DEMORGAN's Theorem. 8

frefafen = =+ s .
i A =

(i) wfER e

(i)  ITF3 T

(iv) Tearm =7 T47)

(h) Using the K-map stmplify the following Boolean

functions
()  flw. v v.oy =301, 2. 3, 4.5 14,15
(. AIA.B.C. D) = 4. 5, 6, 14. 15). 7

%-ﬁ%ﬁ%ﬂﬂﬁﬂ@w@miﬂwﬂﬁg :
M fwx y, =30, 1,2, 3, 4,5, 14, 15)
i) AA.B.C,D)=mn, 5,6 14, 15

3. Differentiate between the following :
Prewfefem # = s wme -
(a)  S-R and J-K Flip-Flop.
S-R 72 J.K fomg-wem)
(b} Multiplexer and De-multiplexer.
TgHBHTF TN foagHHTE|
{¢)  Combinational Circuit and Sequential Circuit. 15
AR wftver aur wigw gfoy
12663/950/KD/221 2

Explain the following :

fr=fafas #1 wame .

(a)  Microprogramming. 7
TSR ATH |

{b) Instruction Format. 8
HIRT Tz

{a} Explain the functions of D-Flip-Flop using a suitable
diagram and discuss how it works. 8
%;Eﬁdiﬂﬂmmﬂ&ﬂﬁqﬁﬁﬂm%qﬁ:
S THARY A0 = FT fF 97 79 w5 v 2 o

(b)  What is the excitation table of Flip-Flop ? Draw the
excitation table of various tlip-flop. 7
FT-mey ™ 0 2 & 7 fafas Sem-ver 79
eI @ Efa

What do you mean by Addressing Modes 2 Explain all the

addressing modes with example. 15
W e W S e s % 7w e o o
3T T HEEET)

What is Counter 7 What are its applications ? Explain the
design of MOD-3 Counter. 15

FEI P EA T 7 TWE T ST F 2 MOD-3 FrEw
F fear #1 wmEEy

12663/950/KD/221 3 [PTO.
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BCE/M-17 12667

LIFE INSURANCE - I
Paper — PPI-BC-(Voc¢)-205

Time : Three Hours) [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt four other
questions from the remaining eight questions.

e ;. Y g | dfhad 21 9 o W § ¥ T =WW ye
Hife)

1. Compulsory Question (3fa™ gy
Explain the following in brief :
fva #1 w89 § = Fifbw
(1) Meaning of Life Insurance.
SiCEiitifca ]
(ii) Nomination.
AHIFA
(iii} Days of Grace.
JTE w1 emEfy)
(iv) Joint Life Policy.
wgw e @ e
(v} Group Insurance. (5x4=20)

e &

12667/200/KD/1535 [P.T.O.



n

What do you mean by Life Insurance ? Explain the
characteristics of Life Insurance. 15
g S ¥ SIHT O FIEE 2 2 e Fm o @e W
U I

What is meant by Life Insurance Policy ? Explain the different
types of Insurance Policies. 15
Sem @ diferd W oFm wd € 0 Wen dm died ®

fafa= yer =1 avie i)

What do vou mean by assignment of Life Insurance
Policy ? Also state the difference between assignment and
nomination.

-

ST | el ® wale 0 e §al ShwE € 7
TEEHT U THiEd § SR |l TR Fiea

What is the procedure of effecung Life Insurance 7 15

SaT dw FS W UfEd g ?

What is an annuity ? What are the various kinds of
annuities ? Also distinguish between Life Insurance and
Annuities. 15

T =0 ¢ 2 affs 9 fahe veR sR-sR @ # 2
SEm & ek Tt ¥ o S 9O

12667/200/KD/1535 2

8.

What is the meaning of Insurance Salesman ? What qualiti
he should have ?

o fawaed =1 0 e @ 7 SEY ®E-EN ¥ S
e 7

Define Insurance Agent. Discuss his rights and duties.
F1 U FITAC

Write short notes on the following :

fr=fefas W wida feoft f&fag -

(i) Advantages of Insurance to Society.
et il G

(i1y  Medical Examinpation.
fefemm =)

(ifi) After Sale Service 1o Policy Holders.
e ¥R # Tawl & Wg wal

12667/200/KD/1535 3



Wo.: NO. Total Pages :

BCE/M-17 1266¢

GENERAL INSURANCE-II
Paper : PPI-BC-206

Time : Three Hours} [Maximum Marks : 8

Note : Attempt five questions in all. Question No. | i
compulsory. Attempt four questions out of the remainin
eight questions.

Az ;. wE U T B IR A TR e 1 #FEe
T S W § W FE WR W Hie)
1. Compulsery O:mmmouﬁmiw_r&mm T )

Write a short notes on the following :

() Insurance as Security tool.

(b) Hull Insurance.

(c) Al Line Insurance.

(dy Macro Insurance.

(e) Group Health Insurance. (4x5=2(

frm w wha foofrEt fafae s

(&) ‘S g AR % w9 H

(W) Taar &1

() O+ft d9f &

(=) g «m

(F) THiEw @red dH4
2. Explain the types of Insurance or structure of Insurance.

1

A H WER Il W wm UM

12668/200/KD/662 [P.T.C

>



What do you mean by Warranties 2 What are the different
provisions related to Warranties? 15

AWETEE W YE F FUE ¥7 wwses § geEhud
s wmam w20

What is Motor Insurance ? Explain the various types of
{nsurance policies. 15

aEd | o 27 g yER # &
Exdl

What is the need of Health Insurance ? Differentiate between

“Group and Individual Health Insurance. 15

R A W O TEvISHW 87 WHiEE @ s

Ts e W €W 9 o 9aRy

Explain the various Insurance Plans for the Rura! Indians.
15

ARAE wHO S # faw fafas S deet o e

What is Macro Insuracne? Explain the various policies for
Macro Insurance. 15

7

Al T o E7 wHe Wim & fee fafie
FT U R

Differentiate between Multiple Line Insurance and All Line
Insurance. 13

qgafed at dur weit R dm oA o wm s

12668/200/K1DD/662 2

9.

What do you mean by Medical Insurance? Explain the
process of claiming benefit under Medical Insurance Policy.

i5
WSy S B TR A UieE # oued oY W
FE OB WEHdl HT TR FA

12668/200/KD/662 3



Roll No. e Total Pages : 3

BCEM-17 12669

MARKETING COMMUNICATION-II
(ASPSM)
Paper : BC(Voc.)-205

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory.

Az : F7F U WA F SW IR T e | wfEd

Compuisory Question ( 3fEmd W)

1.  Write short notes on the following :

()
(b)
(©
(d)
(e)

Managerial Approach of Marketing.
Objects of Advertising.
Forms of Outdoor Advertising.

Methods of Evaluating Advertising Effectiveness.

EE T I L

Selling Process.

frafafean = dfie AR fog .
(F) fomom #1 yEREE s
(@) I # e
(M @ fEm ® R
(9) oA gvERTEEa & geaisd &t
(T) fawa wfwa
12669/150/KD/534 [P.T.O.



Define Communication. Discuss its role in Marketing. 15

ﬁmﬂ%@mﬂ?ﬂ@%&ﬂﬂﬁ?ﬁﬂ%
FH

Discuss the nature, functions and scope of Marketing, 15

fawvm =t wfa, *=f 3 89 w1 T =¥

Explain the various steps in developing Effective marketing
communication. 15

nﬁ%@qﬂﬁnﬂwﬁﬁ%%ﬂﬂ%ﬂﬂg
F|

“Advertising is untruthful, wasteful and unnecessary.” Do
you agree ? Comment. 15

:Eﬂﬂﬁﬂ.ﬂaﬂﬁﬁﬁw:_ﬁ%ﬂﬁ
¥ =ren i

Discuss the various methods and difficulties in evaluating
the Advertising effectiveness, 15

%uﬁﬂﬂ%ﬂﬂﬂﬂﬂvﬂ@?&ﬂmﬁ
ﬁﬂﬂﬂﬁ@iﬂﬁ@ﬂ@d

What is Sales promotion and what are the different methods
used for sales promotion ? I5

Eﬂﬁﬂxﬁwmﬁﬂ%@mﬂfggﬁ
YT fEa s 22

12669/150/KD/534 2

What are the various methods of achievements of Marketing
objectives ? 15
faom = =y # wig & fou f& fafel =1 wam
o s &2

What do you mean by Integrated communication in
Marketing ? What is the importance of Integrated marketing.
communication ? 15

ﬁﬁgﬂﬂ%@ﬁﬁ?ﬁwwmﬂﬂg
AR & WEw & =R i

12669/150/KD/534 3



()2, =4x+ S5y F1 o7 TAS H FW it FEE
x24, y>23, x+y>8 x>0, v>0.

(M) HEWT =S ki FE 2R T 9250, 4 TN Y quwW
FA-=aEl ' SR 2

() sHEET o+ 20> 1 F UE G

() 10% wfa 7% fmEt <3 =9 1 99t = % 9
Ealse

12672/1,000/KD/223 6

Roll No. .o Total Pages : 6

OBCE/M-17 12672

BUSINESS MATHEMATICS - 11
Paper : BC-202

Time : Three Hours] {Maximum Marks : 80

Note : Attempt five questions in all. Question No. 9 is compulsory.
AT . FW U WA F I AN W9 T 9 A

1. Maximize
L =5x 4+ 2v -
subject to

X+ 2v+ 47 <6,

th O

x4+ 2y -2z <

[

x4+ y+3zg

e

x20,y>0z2>
e wifee

Z=5x+2y-2
ENGIED

x+2y+4:7<6

15

x+2v -2z <5
v+ v+ 3z<?2
HWo.v.Nc.mNo.

12672/1,000/KD/223/Trans. (P.TO.



Solve L.P.P. graphically :

Maximize
Z=2y-x

subject to

*

3y —x < 10,
r+y<b,
r—y<2
x v 20 15

s Wi aE R WE N ee i
sfymas HIfSY

Z=2y-x
EGED

3y-xg 10,

L]

X+ vy <6
Xx-y<2
x vy z0.
(a) Divide ¥ 6.305 into three such parts that their amounts
at 5% compound interest in 2, 3, 4 years respectively,
may all be equal. g
{b} Find the effective rate of interest of 9% p.a. compounded

continuously.

(F)T 6305 F @1 ¥ § @ & faqis 1= =
ITR! AT 5% TFFTE FAF A A FHI: 2.3 F 4
Tt # e 2

(@) 9% Wd a4 Taq IFgIg = F1 TIE W AT FIC

12672/1,000/KD/223 2

n

(a) Find the amount of an annuity due of T 200 per vear
payable half vearly for 20 years to 4% p.a. 8

(b) Find the present value of an ordinary annunity of
T 500 per quarter for 10 years at 8% per year
compounded quarterly. 7

() % 200 509 =79, 4% 9f7 = T 20 = & fore syefanfias
I ¥ =fE gfa ul #® F@ Fem

(@) T 200 ¥ faarel = fow 10 a9 # 8% 3fa a9 fme
A =7 W AGHE WERO iR D oFE e

fa) A man borrows ¥ 6,000 at 6% and to pay-off the loan
in 20 annual payments beginning at the end of the
Ist year. What is the annual payment necessary ? 8
(b) < 5,500 is deposited each year in an account earning
8% interest p.a. compounded continuously. Find the

amount after 10 years. 7
(F) TF =afk T 6,000 F FHV TN ¢ FTGH PEE 6% W
20 W% Al O UES o9 % ot § e w1 ¥
fFaT o M smEveas em?
(@) wF @ § T 5,500 ¥ 9 w9 fFT 9§ P W
8% Wit =4 Waq TFgls == A e #1 10 9w ®
= T = wm wifa

12672/1,000/KD/223 3 [PT.O.



(a) At what rate ¥ 1,000 amounts to Z 1,500 in 12 years
at compound interest ? 8

(b) The SI and CT on a certain sum for two years are

204
T8and ¥ S5 Find the rate and the sum. 7

()% 1,000 o8 = R 12 7 ¥ =wgfs =19 9 2 1,500
B ST ?

n@vgﬂgﬂﬁnwm&ﬂﬁéﬂﬂmﬁmﬁﬁ

ﬂaﬁﬂnwmmﬁm%mw_ﬁmﬁﬂﬁﬂﬂm

25
i

Which is a better investment — 8% p-a. compounded half

yearly or 7.5% p.a. compounded continuously ? 15

m%_-ﬁﬁﬂrwﬁw-mxnmﬂﬁaﬂmﬂﬂﬂmé
7.5% Wfa a9 9aq e

A producer has 30 and 17 units of labour and capital
respectively which he can use to produce two types of goods
X and Y. To produce one unit of X, 2 units of labour and
3 units of capital are required. Similarly, 3 units of labour
and 1 unit of capital are required to produce one unit of Y.
If X and Y are priced at T 100 and Z 120 per unit, how
should the producer use his resources to maximize the total

revenue ? 15

12672/1,000/KD/223 4

TF Ffm & o @ qwr 4S5 e 30 w9 70 s
w?&ﬁxmﬁwm&%%mﬁﬁﬁgﬂﬂa
w_mﬂﬁax%mﬂﬁﬁwwﬂaﬁmﬁumﬂa@
%ﬁmﬁﬂﬂiw_wﬁnﬂzmﬂwﬂa<ﬂmﬂﬂﬁ
3 TEE H9 AN | TEE Y % ravawma wedt ¥ ARk X
Y WY FE: T 100 T T 120 W TR &
T % IORE F AT wOEA B FY IyEm e
=ew, s % 39 =& o sifusas o

Compulsory Question

(Frard ww)

Attempt all the following :

1
(2) Find C.I on T 24,000 at 15% p.a. for Nw years. 4

(b) Find the dual problem of Zin = 4x + 5y subject to

.aNPu\quk+wwm.HNo;\No. 4
(¢) At what rate of SI will ¥ 9,250 be three-fifth of it in
4 years ? 4
(d) Draw the graph of inequation x + 2y > 1. 4

(e) Find the effective rate of interest of 10% p.a. payable
quarterly. 4

= = = 'w S .
(%) T 24,000 F 15% wfF a9 § Nwm&%waﬁ,lﬁﬂ
S T HIf

12672/1,000/KD/223 5 [PTO.



e Total Pages : 7

OBCE/M-17 12673
FINANCIAL ACCOUNTING - 1I
Paper : BC-203
Time : Three Hours] [Maximum Marks : 80

Note : Answer five questions in all. Question No. | is compulsory.

M ;@ AT WA B IW AT 9 T | sEe

1.  Compulsory Question

(sfrard www)
Explain in brief :

Te ¥ wmed wife

(a)

(b)

(c)

(d)

(e)

(f)

Del-Creder Commission,

ey e

Joint Bank Account.

TgH d% @

Goods in Transit.

b1 B o =

Maintenance Suspense Account.
T T3F W

Partnership Deed.

TR Hera

Hidden Goodwill. (343+3+342+2)
fodt Tl

12673/750/KD/375 [PTO.



Explain the treatmeni and valuation of the followirng i
consignment with the help of examples : -

o % Hew § e w1 o o geEA e R S
T, ST Wi =ed i
(i) Normal Loss.
amr= #l
{iiy Abnormal Loss.
I ETHI

(iii) Stock on Consignment.

iR ic

Explain the different methods of maintaining Joint venture

records. 1¢
T WEw & 3 T w1 fafa= fafes = =
Exd

What is Purchase consideration ? Explain the various
methods of its calculation. 16

7 whEe T 22 e o F i weEmy

What is Goodwill ? Explain the methods of valuing
goodwill. 16
s w3 T % geriEd # fafed S 99 S

Verma Brothers has one branch at Ludhiana and other at
Khanna. Goods are sent to branch at cost plus 25%.
All expenses of the branch are met by Head Office and
branch sends all cash received to Head Office. Prepare

12673/750/KD/375 2

Ludhiana Branch Account and Branch Trading and Profit
and Loss Account from the following particulars related to
Ludhiana Branch : 16

ot wed F Tw W dfem § s @l e § R
rE H WA AOE W 25 Ui et den o 2
T =E A FEed g0 9Ed fFu W § R wmen
T WS 4 WOW HrEfem W 9w € g oren
4 gwfug Frafafes faaor @ R wmr @ aud
T &1 SARE der wg-w w o fER i

3 4
Stock (TEfean) 65,000 | Goods Returned to H.O. | 28,500
1-1-2004 (WU FTIEE F A
Debtors (3T2R) 28,0001 = fem)
1-1-2004 Returned by Customers 13,000
Petty Cash (3?79 %Lv 3,500 (=t & W =Tvw )
1-1-2004 Transfer of goods from
Goods invoiced to Khanna Branch to
Branch 4,45,0001 Ludhiana Branch 71,000
(STRE 1 AT W) (@1 s & gl
Cash Sales 97,000 YTE F W W
(e o) . EHTo)
Credit Sales 3,92,000} Petty Exp. of Branch 2,200
(TR ) (Y@ ® Y )
Collection on Invoice Value of goods
Ledger Accounts | 3,65,000 pilferaged 23,000
(FRE | I 4) (W o =1 ae qed)

12673/750/KD/375 3 [PTO.



Bad Debts 9,800 | Amount received from
(Z@a =) Insurance Co. 16,500
Rent and Salaries 35,000| (St e © ww af¥)
(far o o)
Selling Expenses 23,000
(forsh =)
Loss due to Wastage
of Stock 10.000

(s =5 | 71f)

X purchased seven trucks on hire purchase system on
1-7-1980. The cash price of each truck was ¥ 50,000.
He was to pay 20% of the cash price at the time of delivery
and the balance in five half-yearly instalments starting from
31-12-1980 with interest @ 5% per anuum. On X's failure
to pay the instalment due on 30-6-1981 it was agreed that
X would return 3 trucks to the vendor and remaining
4 would be retained by him. The vendor agreed to allow
him credit for the amount paid against these 3 trucks
less 25%.

Show the relevent accounts in the books of X assuming that
his books are closed in June every year and the depreciation
is charged on trucks @ 20%. 16
TH A 1-7-1980 W 7 TF Ry w9 wgfh wwg fau
TI® TH F UHE I T 50,000 o1 W YR F gHg
THT e &1 20% THS I o 3R 9 0l 5 s ol
o & fF 31-12-1980 @ Y& o1 ¥, 5% wiaad == gfeq

T ot 30-6-1981 &1 7 T F TTAH T T T T

12673/750/KD/375 4

g 79 g3 T w7 fawa #1 oher % o WR o
A I 91 A 2| faa 7 9 o= & fou a1 g7 gy
F1 g o # fow 25% w9 W wige fom

U HI YRR § STEvIH @ @ifen sHw fhas wihed
97 4 9= ot & o T W 20% W oA S 2

P and Q are equal partners in a firm. They admit R into
partnership on the following conditions :

(a) That R will be given 1/3rd share of profits.

(b) That P gurantees that R’s share of profit shail be
T 7,000 after charging interest on loan given by partners
to the firm @ 10% p.a.

P’s loan amounted to T 20,000 and Q’s loan amounted to
T 16,000. During the course of the year 2011 profit amounted
to ¥ 21,600 before charging interest on partners’ loans.
Prepare Profit and Loss Adjustment Account at the end of
the year. 16

W ol 7 TF W ° O wEER ¥ 3= R & e vl

ﬂﬁ@ﬂmmﬂg“

(37) 3R & o § 173 9w faem

(F) o oS AW ¥ fF SR W oy TERR 5 W & fag
T FHON W 10% Waey FH W W AN T F 99
T 7,000 EPMN

o = W T 20,000 T F B ET T 16,000 T FI 2011

H Y 9EER ® KU R S o ® TEd 21,600 o)

T F I H oN9-31H AN T SR

12673/750/KD/375 5 [PT.O.



9.  On 30th June, 2003 the balance-sheet of A, B and C who (i) Land and Building be appreciated by 10%.

were sharing profits and losses in the proportion to their afg 1 9aA ¥ 10 gfm w1 gfg oS
capitals stood as follows : (ili) Machinery will be reduced by 20%.
LA o G A e e e i e e § 20 Wiaww ®OFH H S
¥ dfed 4, =1 fEear 30 4, 2003 F A9 9w e (iv) The provision for bad debts is no longer necessary.
- . I Croc T et
Liabilities Amount Agsets Amount Sl m.mq_v— W @ﬁ.mad_n- % mm._au_ MﬂMﬂ . .
z z (v) The entire capital of the firm as newly constituted will
Sundry Creditors 17,400 | Cash at Bank 1,000 be fixed at ¥ 70,000, which will remain between A
Capitals : 4 Customers 23,500 and C in the proportion of 4 : 3. Such excess or deficit
A 40,000 Less © Provision 1,200 22,300 to be paid off or brought in cash, as the case may be.
B 30,000 Stock 21,700 W wd F owa $ 270000 freifm W oW S
C 20,000 90,000 Machinery 35,060 T g4l ﬁJ .H.w 4:3 % m.L.Hﬂ.—m .ﬂ. AW.—.W‘ T THKR m&,
Profit & Loss A/c 12,600 Land and Building 40,000 |urlnm .ﬂm m m%d y . .& 0 .mw ST |
120,000 120.000 Pass Journal entries. Prepare Capital accounts and the
. Balance-sheet of new firm. 16
On this date B decided to retire and for this purpose it was . -
agreed that e wfafeat #ifsm 4o @ qen 7 wd 1 Ry fae
_ Fifm)
w i w R A smww mwm w W feww e ¥

W R w o oweh g fF

(i) Goodwill of the entire firm was fixed at ¥ 25,200
and B’s share be adjusted into the accounts of

A and C who will share future profits in the ratio
of 4 : 3.

w8 F HA wA 25,200 Hiveg wt w faad @ &
T feam ¢ aun & % @ § w2 T e .
afgsr & oW A 4 :3 F R F @ren

12673/750/KD/375 6 12673/750/KD/375 7



Roll No. o H&E m.wmwm,. 23

OBCE/M-17 12674
BRUSINESS MANAGEMENT - II
Paper ~ BC-204
Time : Three Hours) {Maximum Marks : 80

Note : Q. No. 1 is compulsory. Attempt any four m:m.maomm from
the remaining. All questions carry equal marks.

N ﬂmﬂﬂﬂ:ﬁw_ﬂw.%ﬁwnﬂa%ﬁm.ﬂ_
aft i F 3w 9uE 2 N

1. Compulsory Question (31F@R ww)
(i) What is meant by financial incentives ?
faeiia JRomall w1 @ o € 2
(i) Write any four features of Leadership.
g # fredl O favaet @ et
(iil) What is Quantitative Standards 7
Creec el LI I
{(iv) Write any rthree features of Motivation.
s Y fd @ fadimanst &1 avly S
(v) Brefly explain the barriers of communications.
TieETed w1 Al & Hiiw 3o w0
(vi) What is zero-based budgeting ?
T i 92w ¥ 7

12674/400/KD/1527 [P.T.O.

bl



2.

4.

5.

6.

1.

What do you understand by Leadership 7 Discuss the
different styles of Leadership.
ﬁm@%mﬁﬁﬁmwﬁ%_ﬂﬁﬂ&@&%
Eceaficaistd

What is Motivation 7 Discuss the various methods of

Motivation.

s@ﬁﬁf%&a%%%&ﬂ%

_Describe the various barriers of communication. What
measures do you suggest 10 overcome them ? .
g%mnﬁm@m%-%%%%w 73R
39z fFW W T € 7

What is control 7 Describe the process of control.

gﬁ%w?ﬂﬁa%ﬂ%ﬂ_

What is the purpose of pudgeting 7 Discuss various types of
budgel.
e @ i ¥ ) T fahe T £t

Discuss Planned change. Explain the process of planned

change.

%nﬁﬁﬁﬁ&ﬂ.%qﬁ%%n@gﬂ
TAETEL

12674/400/KD/15627 2

Write detailed notes on the following :

fereftan w0 foga feforai fafend

() The Trait Theory of Leadership.
dg w e e

(i) Non-monetary moiivators.

arfem AU

Define 'Communication Network'. Discuss its various.
types. S
ﬁﬂmwﬁaﬂﬁmﬁ.mmﬂ%%ﬂﬁa%ﬁwﬂh

T

12674/400/KD/1527 3



Roll No. e Total Pages : 3

OBCE/M-17 12675

BUSINESS ECONOMICS - 11
Paper : BC-205

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks.

Az . = g A ® 39 ARy e de 1 atEe #19s
WA % 3w wmE 2

Compulsory Question
(arfrard 9y)
1. Answer the following short type questions :

frafafes o el % IW T .

(iy Objectives of a Business Firm. 3
HIfF FH ® IEYI|
{ii) Gross interest and Net interest. 3

Thed Sl 99 I[H =191

(iii) Objectives of Dumping. 3
TR % 3EEAl

12675/900/KD/376 [PTO.



(iv) Excess Capacity. 3
EIDEC IR Lol

(v) Quasi Rent. 2
HATHIE M|

(vi) Collusive Oligopoly. 2
ST HETIRHT

What do you mean by Discriminating Monopoly ? When is
price discrimination possible and profitable ? 4,6,6

T TSR ¥ 9 1 99Ed £ 2 #9999 o
g 9 OVEES B4 g 7

Explain the following :

frafafen =1 =memn +X

(i) Comparison between Monopolistic competition and
Perfect competition. 8

wifusr s qor qof giemifa § gem)
(i) Short-run and long-run equilibrium of a firm under
monopolistic competition. 8

TR S # ofoia U % % sjegweid 3
FHFHA  Tger |

Explain price and output determination of a firm under perfect
competition. 16

o yfaifirr & oFmia T wH % IR aun s fredor
H =T HIfTC)

12675/900/KD/376 2

Explain Cournot's Model of Price Determination under
Oligopoly. 16
HEMFR & FTE TG (R0 F/ wed w5 =Ew

i)

Discuss Modern theory of Rent. Is it improvement over
Ricardian theory of Rent ? 16

T &% i fagra # smen #ifwu ¥ 9 fage
ferel % fog= +1 gun &9 2 ?

Distinguish between nominal and real wages. Discuss
how wages are determined under conditions of perfect
competition. 16

Hfgw T AEAfEE woEd ¥ 9wy gt wheEfa @
sita Teh Frfon T Fif)

Critically examine Uncertainty Bearing theory of Profit given
by Knight. 16

e g femw ooy e fazm #1 s
EnEd

Critically examine the Liquidity Preference theory of
Interest. 16

= F We AR fagra ) eeieeTs swen
Hifa)

12675/900/KD/376 3



7.

Write the Income tax provisions regarding the following
deductions :

frer wftl & Ty ® amae @ WA i fafEg -

(a) Regarding Medical insurance premium paid
u/s 80 D. 5
faferen = Wifgms <@ ws 80 D.

(b) Rent paid for self-occupied residential house
u/s 80 GG. 5

=4 H T H AFE @ R R wis 80 GG.

(c) Deduction in respect of contribution to Pension fund
u/s 80 CCD. 5

Yy B8 H IVER ¥ =Y °§ 24 ws 80 CCD.

8. Discuss the provision of LT. regarding the following :
= & oy | g = yavA fafeu
(a) Expenditure on Scientific Research. 8
Ffrw STy W =)
(b) Amortization of Preliminary expenses. 7
RS =A% W o wAf)
9. Explain any fen incomes which are not included in the total
income. 15
T T o w1 vl FIT S owe o ¥ wfmfem e
F S F
12679/150/KD/994 4

Roll No. ..o, Total Pages : 4
OBCE/M-17 12679

INCOME TAX LAW

Paper : BC(VOC)-205
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.

Attempt four questions from the remaining eight questions.

M FF U WA B S Hrw W FEw 1 sfted #)

1.

Y s w0 W FE A w9 Hiem)

Compulsory Question
(ot wy)
{a) Explain Previous year. 4

THEY $I S SR

(b) Define Perquisite. What are the various types of
perquisites ? 4

IS w oA AR eTenw R yem @
e ¥ 2
(c) Taxfree commercial securities. 4

FF ARGyt

12679/150/KD/994 [PTO.



(d) Cost of Acquisition. 4
wiE #t @

(e) Additional Depreciation. 4
HiaE g

2. Explain how tax liability of an assessee is determined with
reference to his residence. 15
FEE FT FEGE IqH FAM-TR $ mm w e
R Frifa e s 2, summeR fafe)

3. Define Annual value. How is it computed ? What are the
deductions allowed out of annual value ? 15
Tt gew &1 wfeafag FTE1 gt o $Y w7 o 27
TMF e T Y F-wE @ wAwE e B

4. Enumerate expenses & payments which are disallowed in
computing the taxable profits of a business. 15
SR &/ F H TOA FH H BH-BH 9 @F TF JEH
sFfpa ¥, auir wifed

5. In what circumstances the income of one person is treated
as the income of another ? 15
TF e F1 T B W w1 oA e afifeafEt § A
w2

12679/150/KD/994 2

6.

Compute the total income and tax liability of Mr. X for the
assessment year 2016-17 :

F-FROT o9 2016-17 F forw 1o X # w9 oW W

FETE H A FifEC

(a) Business profits (after charging ¥ 20,000 paid by
cheque as donation to the Chief Minister's Relief
Fund) — T 5,52.000.

SR 9 (T 20,000 9% g0 &I T8 Y H
f? ™ T F oW F wwEm) — T 5,52,000.

(b) One-fourth share from an association of person in which
he was a member — ¥ 8000.

IfFE ® TE T W TE-deE am (e 9y
& 91 T 8,000,
(c) Income on limits of M.F. ¥ 6,000 (Gross).
At ww F gl W oemm T 6000,
(d) Interest on Government securities T 8000.
FEH il W == T 8,000.
{e) Winning from lottery (net) ¥ 70,000.
|l S ® ww (3 i) T 70,000.

(f) He spent ¥ 4,000 in case on his preventive health
check-up. 15

dH WA F fEne We-tg@e W awe W
T 4000 wE fa

12679/150/KD/394 3 [PTO.
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OBCE/M-17 12683

COMPUTER APPLICATION
(Computer Fundamentals and Logical Organisation—II)
Paper : BC-205
Opt. (i)

Time : Three Hours]| [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

A2 FE U T & IW AT WwE wem 1 e R

1. Compulsory Question
(afard wv)
(a) Differentiate between Internal and External interrupt. 4
AF a0 W IR F d= FAR TR
(b) Describe the operation of Universal digital logic

gates. 4
Ifrade fefsee oifss Tz & F9m # 9o
F

(¢) Explain the working principle of Full adder. 4
T A ® wRER R W smen

(d) Differentiate between RAM and ROM. 4
W o WA fasr Fifw

(e) Explain the concept of Micro-programming. 4

TEHI-WANTET FT SFURON HT T HIAU

»  12683/150/KD/379 [PT.O.



Obtain the TT of the following functions and express each
in sum-of-min term :

(a) AC +AB”+ABC’ 8
b) X +Y) (Y +2Z). 7
frfafog wom &1 TT W9 s$ifse den J&& B[S
e # AOMFEd ®Y U HJE HIOY :

(%) AC+AB" + ABC’

(@ X +Y)Y (Y +2Z).

Differentiate between Combinational and Sequential logic
circuits with one example for each type. 15

A A HEEg Wfwd TReel " ToE w TE
T wigd S =Ry .

Explain the multiple contiguous allocation of memory
with numerical example. Why segmentation is needed in
memory management ? 15

HeareTF AR ufsa wfe ® Fgfay wf-feq oM &
e FfA W G W GUEEAn F sTavEswa 4
Bt 27

List and explain various types of addressing modes in
computer system. 15

FIoge yoieh # AR dem # Al TR @ e
Ffae iR TR

12683/150/KD/379 2

Draw and explain logic circuit diagram for AB” + AB with
only universal gates. 15

Fael g 729 F WY AB +AB ® fAu #ife Wiy
fog 9T SR WEEEU

What is DEMUX ? Design 1 : 8 DEMUX. 15
DEMUX =41 €7 1 :8 DEMUX feaea wifsg

List and explain various types of Instrument Format. Give
suitable examples. 15

¥y aEY 3 fofe= TR &t gEe it ol v
Ioged SR e

Explain the working of DMA Controller. 15
s faas #1 FE-yone 1 wEEEel

12683/150/KD/379 3



ROIENO- v Total Pages : 2 6. How the diphthongs are used in Shorthand ? Give three
examples of each diphthong.

OBCE/M-17 12685

SHORTHAND (English)
(Theory)
Paper : OMSP-BC-(Voc.)-205

7. What is Grammalogue and how these are used in Shorthand ?
Give suitable examples in support of your answer.

8. How the Initial Hooks are attached with straight strokes
i and Final hooks with curved strokes ?
Time : Three Hours] [Maximum Marks : 80
i ts, their place, direction and thickness.
Note : Question No. 1 is compulsory. Attempt any four more 9. Define Consonan p |

questions. Other questions carry equal marks.

1. Compulsory Question
(i) What are vowels in Shorthand ?
(i) What do you mean by Logogram in Shorthand ?
(iii) Explain Diphthong.
(iv) Explain Phraseography.
(v) Use of circle ‘SS’ and ‘SW’. (5%4=20)

2. Define Stenography and its importance.
3. Explain Circles, Loops and Hooks with suitable examples.

4. What are the qualities of a good Stenographer ? Explain
writing techniques and suitable material required in
Stenography.

5. What is meant by Phrase in Shorthand ? Give a list of
Simple Phrases containing at least 10 phrases.

12685/50/KD/380 [P.T.O. 12685/50/KD/380 2
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e 12691

BCM /M-17
CORPORATE ACCOUNTING-II
paper—BC-401
e soiowed © 3 hours ] [Maximum marks ; 80

jote - Atrempr five guestions in all. Question No. 1 is

compulsory. All questions carry equal marks.

e wm&mﬁ%ww_%%@fﬂx%_%iwxﬁwﬁﬂ

Z

1. {a)

(b)

(c)

(d

(e)

(12691}

st g 8
Compulsory Question (e g )

Explain factors affecting valuation of goodwill. 4)
& e B AR A AR O I
Discuss net assets method of valuing shares. (4)
ﬂ%%%&@ﬂmﬂﬂﬂ@ﬁﬁ@ﬂ%ﬁ
Explain compulsory winding up. )
ofrar wEE B EEERC

Explain Capital Reserve. 4
What do you mean by Non Banking Assets ? (4)

wq,%ﬁmaﬂ&w%ﬁﬁﬂww‘w
PTO.



, (2) (3)
- Discuss the meth :
ods wh :
Explain the nmv:m__.mm:ﬂ_vﬂz m:w::voa for goodwill valuation, Carrent Assets: ]
xamd method with N :
) . the help of suitable I=veztory 2,00,600
Y gegree (15)
= umum ® fore sl 3 W A ool Rt @ R Trade Recievables 6,20,000
T TR 9 e § Ghn B | Cash at Bank 28,000
s Owing is the Balance § ) .
h Son Cuicreat Aseels
March, 2016 - eet of Ram Lid. as on 31t {urrent / Mon Curread Assls ,
- Share Issues Expenses 12,000
TOTAL 18,00,000

Particulars
; Rs.

Shareholder’s Funds; Information :
By Shr Cool (50 Sars o B ety | ©  Market value of 1/4th of the fixed assets is 30% more
Reserves and Surplus m | 3.00.000 than their book value.
Non Current Liahilities , 1,62.000 H G) Rs. 10,000 of trade receivables are to be considered as
10% Debentures H bad.
_ | |
- Provident Fund \ 200000 \ (@) Profits of the company for the last three years were
Current Liabitities | 60.000 \ Rs. 1.90,000; Rs. 1,70,000; and Rs. 2,50,000 after
Trade Payables ~_ ! interest on debentures but before tax. Rate of tax may be
i |1 _,
Workmen's Saving Account ‘ n 800 m. assumed as 40%.
Short Term Provision : Taxation Provision % _ +0.00 __ (iv) [Itis the practice of the company to transfer 25% of the
_ P10,
TOTAL : m..k.ob profit to General Reserve.

2. ASSETS: ‘ _ L You are required to calculate the value of shares (i) by net asset
Non Current Assets - h A J method, (ii) by dividend yield method, assuming that average
Fixed Assets m u, | rate of dividend on such company’s shares is 10%, and (iii} by

‘
earning capacity method, assuming that normal rate of return
esis 12%. 15

8% Gowt. Securiies at ¢
ast (Face value Rs. 1.50,000,
on net capital employed in similar compani

12697 | |
_ 12691

PTO.




(4) (5)
frefertaa
w31 9, 2016 # feer 2 -
Mmmﬂ -~ - “ﬂﬂm:ﬂ .
H.gmﬂﬂﬂﬂ hd 5 ) Em%ﬁa@w:»ﬂ%ﬁnﬁwmmaﬂﬂwuoﬁ
St B fy o ¥
mﬁﬁa@?._oo\.n@a@uoccﬁﬂ ) = e A R F 10,000 & A "
Hamf;ﬂ | W,S,So G F e B e 5 e @ o E
B 62,000 g &0 & T8 . 1,90,000:%- 1.70,000 7@ . 2,50,000
%Hﬁﬁ , 31 0 B G A A0% T )
u84 . - -
i 000 c&ﬂxwmmg\o&%mﬂﬂ%ﬁﬁﬁiﬁ
Y AR 60,000 I B
NN j
i%wﬂa 738,000 gﬁgwﬁa&gﬁ&wneﬁaﬂmﬂwg
| sﬁﬁaﬁﬁmg .3. wac:mzaaﬂwaﬁﬁﬁﬂwmn@g%wﬁ&
UICLIC R T o _8,8@ ﬂiaﬁoﬂmﬂﬁ_oﬁwumﬁ?umﬁmﬂﬂagﬁ
5 . % ._, 000 ﬁw%@mﬁ%ﬂ&m%@ﬂw&ﬁnﬁﬂ%%
- SR {18,00,000 7 12% 31 (15)
-y sRwhm .
Wl qRtgegR 4. The following are the Balance Sheets of H. Ltd. and S.Lid.as
at 31st March, 2016:
_mc@ TR gl e o HO0.000 [ Panicalars
(s T 5. 1,50,000) —
g R 1,40,000 e EQUITY AND LIABILITY :
T-gf (590) . ,,, Shareholder’s Funds: .
FR Aata 2,00,000 Equty Share Capitlin Rs. 10 each, fully pad 49
= 3 6,20,000 8% Preference Share Capital
mﬂ\w_ﬂh&.ﬂ el 28,000 (eneral Reserves
3y frfg =g
12,000 Surptus (Profit & Loss) {before
3l 18,00,000 appropriation of dividends)
PTO.

(12691
(12691



© (7)

Non Current Liabilities ==kE 31 A, 2016 9 H R oo ST, & faed 2 .
10% Debentures 1,00,000 J R H m&; Sh
1. @ ) — i
Current Lisbili . T T
FwE g
Trade Payables I 5,350,000 3,26,000 . |
T 105 5 F o g |soo0om 800,000
78,50,000 | 16,90,000 8% i i dof N
- 2,00,
. ASSETS: g | 15.00,000 _.S.MMM\
Nea Current Assets : L Mﬂﬁ T E) (st §
m ) - 6,00,000 [ 1740000
Fized Assets SS00000 | 1200000 drapy 4,
Ivestment 0 5% Equiry Shares = Sz x4 WS 7.50,000¢ 10% #orgs -
: 00,000
investmest = X% Prefcence Stares in § Ld on 14,2015 | 42,000 I AR
TR 3gan
6,50,000 3,26,000

Current Assets ;
(ochding Rs. 40000 inventory puchased fom §.L1d) 11557600 | 490000 2. ofeearar - 78.50,000 | 16.90,000
78,50,000 | 16,90,000 ey ReRni

On Ist April, 2015 S Lid's General Reserve and Profit Wﬁ R 35,00,000 | 12,00,000
A18 . |

and Loss showed balances of Rs. 1,10,000 and Rs. 70,000 DS R SR X 5% ot A PAw | 750000
MR HRA. F 0% afmr sigt 3 frigr 42.000

respectively (after appropriation of dividends). Prepare
TRy SRR
the Consolidated Balance Sheet as at 31st March, 2016 /
SRR #7500 2

assuming that H. Ltd. sells goods at a profit of 33 1/3% SR 773 ) ‘
_ 15.57.600 | 4,90,000

on cost. (15 w
178,50.000 | 16,90,000

muwa~ _ 591 , i
PT.O.




2 ]

Ny

(9)
(8)

;~%.~Mwﬂmﬁ
A AT g

oA =3 ojE Ty

== 2015 F S

24T

g zsT o % RfEm %
3 70.000 = S 25T
110,000 37 =

—
9 e Sl

c:lowing are the gures extracted from the books of ABC
3k Lid. as gt 3 1.3.2010:

.

R 7o %
) 31 AE, 2016 F|TF AR 5T (15) Interest
RELIGIREN e .

and Discount Received

. 37.07.000
Hf #ma o7 33 /3 % 5 =19 77 77 37 2 | , ESB&EE on Deposir 20,38,000
f payment adopted by 2 _EEamE,h Issued ang Subscribed Capital 10,00,000
Discuss the order 9 W:omm of calculating liquidator’s ! Salaries and Allowances . 2,00,000
Alse &mw:mm the me sy \ Director’s fees and Allowances 30,000
ETUPETER: =2 T AN B FH B gUW HIETT T _,_, Rent and Taxes Paid 90,000
E R l., l — wl F T ) ARt Postage and Telegrams 60,000
T Proat and Loss A/c of wﬁéﬁoqw@wmﬁ.m Fund | 8,00,000
Explas ail the scheduies gven in Pro (15) Coemission, Exchange ang Brokerage \ 1,90,000
Banking Comparnies. T mﬂmﬁi& 65,000
Yn TP # AM- PoSron m.wwmo”Fﬁwu:Q: 2.00,000 \
o Balance Sheet of Life Assurance wﬂhmmw * Propertics | MMMMM \
7. Give a Proforma of the Bala (15) | .

any along with necessary schedules. Preliminary Expenses 25,000
o guE # fefd FE @ P SEED s Auditor’s Fees
o e aH

dfed &L |

FH F A A
it & T A TR # AHERC b) There were also other debts for which a provigjon of
3 SRIEZ ¥
e A F

(12691

only 50% can be fecovered from hig estate.

Rs. 1.50.000 was found necessary by the auditors,

[See 9th page 7] PTO.



(10)

< Rebate on Bills discounted on 31.3.2000 was Rs. 12,000
and on 31.3.2010 was Rs. 16.000.

idy  Provide Rs. 6.50.000 for Income Tax.

{e)  The Directors desire to declare 1{¥¢ dividend.

Prepare the Profit and Loss account o ABC Bank Lid.

for the year ended 31.3.2010. (15)

5 A R @ gEe 3 31.3.2010F = 5= g
5.
— =F = = 37,07,000
e = == 20.28.000
e o e o 10,00,000
e o 2.00,000
H5== F I a4 0 30,000
I R qu HT 90,000
= G q 60,000
Jyifas dag MY 8,00,000
Flar, fafa qg SR 1,90,000
g e 65,000
| Faw & f T oA 2,00,000
35 % e T A 30,000
e A = _ 40,000
m G wd 25,000

ﬁ,ﬁwmﬁ F gF | 5.000

12691

Wil

12691

(126911
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Printed Pages: 3

BCM /M-17

BUSINESS ENVIRONMENT IN HARYANA

Paper-B(C-402

Time allowed : 3 hours] [Maximum marks : 80

Note :

1. (a)

(b)

(c)

(d)

(e)

Antempt five questions in all. Question No. 1 comprising
of five short answer tvpe questions carrying four
(4) marks eachis compulsory. Attempt any four questions
from remaining eight questions. All questions except -

Question no. 1 carry 15 marks each.

7T g Fe I A e w@y 1 o @ e g
7Y FGT 9T 4-4 3l F & 9w opF et § & e qre ge
B T B0 597 G 1 # S3eT g9 geq 15 o % &

Compulsory Question (a1 97)

What are the main objectives of Economic Development?

4

T B 3 g e R § 7 4
What are the causes of slow growth of agriculture in
Haryana? 4
g | Y % 9 ghas & w1 BT € 7 4
Discuss the role of cooperative banks in agricultural credit.
| 4

B g ¥ wee 39 @ o @ A A 4
Explain the various objectives of Haryana Financial
Corporation. 4

s g frm & R SRedt @ avie &ty
What do you mean by Fiscal Deficit ?

TEEYY e ® oY F9 TH Y & ¢

LS~ S

_ 12692 _ [Turn over



!\J

(2)

What are the internal and external elements or components of

Business Environment ? 15
FEAAAF TN F FAE 7 A T AT S B F S 0
15

What are the various problems of economy of Haryana ? 15
BT & aderawn e e dv-dm & § 7 15
Discuss the importance of agriculture in Haryana. What measures

would you suggest for the improvernent of agriculture in Haryana.

15
%ﬂém%ﬂﬁﬂﬁa_%ﬁm%%@ﬁw@mgﬁ
gam &7 ? 15
Discuss in detail the functions of NABARD. 15
TN & FE W B § = Fv 15
What do you mean by Rural indebtedness ? What are causes of
rural indebtedness ? What are its consequences ? 15
THT FOETN A S T AE 2 7 56w e ¥ 7 e
gRoH & g’ F e 15

What do you mean by Small Scale Industries ? Explain the

incentives and facilities provided by government for the

development of small scale industries, 15
W ST & oo @ A ¥ 7 g SEe & R 3 R s
a1 & R gt T demed @ oav a6t 15

12692

(3)
What are the SEZs ? Discuss the importance and limitations of
Special Economic Zones, 15

o Al & ¥ 7 9w onE 851 3 aee a0t @y avia
Exdl 15

Write a detailed note on Twelfth Five Year Plan of Haryana. 15
AT 1 aredl deEly dem w o fgd S R 15

12692
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................ 12694

BCM/M-17
COMPANY LAW-I
Paper—-BC-404

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.
LGN A C g T

Compulsory Question (Fart gw)

L. Write short notes on the following :

(@ Define ‘Limited Liability’. 4
(b) What do you mean by ‘Doctrine of indoor
management ? 4
(c) What are Preference Shares ? 4
(d) What are Right Shares ? 4
(e) What are Convertible Debentures ? 4
it o it fewafr fafay
(®) AfE afre ft oo Fitm) 4
(@) ‘oA gew F R § o R aee ¥ 2 4
(M yaiRE ofr w=r A & ? 4
(@) PR sy T & 7 4
(3) SRace o o g A E ¢ 4

12694

[Tumn over



(2)

Distinguish between a private and a public company. 15
ol Ft @ wEeE FEl B W SRR T @) 15

Explain the steps to be taken or a procedure to be followed for

the incorporation of a public company. 15
UF [V S S T B Q81T S it F=HT ST
AT SR A 9P H A e | 15
What is Articles of Association 7 How is it different from
Memorandum of Association ? 15
i s T ¥ 7 T arde A & R e T R 7

15

Define stock and give its characteristics. Can shares be
converted into stock ? What are the statutory provisions and

procedure of converting shares into stock ? 15

2 1 gieaer SR g 39 Fewad sl ww ofsh @
wiF § uRaff frar o g @ 7 oiel @ 2f% § Wakia &0
# JfF wEUE o qfE w2 7 15

What is the procedure of allotment of shares of a public

company limited by shares 7 What is the effect of an irregular

allotment ? 15

o e ZN did qEeie e 3 oial @ endeT gRe war

& 7 offrafya oEed o 99g BT © 7 15
12694

(3)

7.  What is meant by reduction of share capital ? Explain the
circumstances and procedure necessary for reducing the share
capital of a company. 15
s G F e @ oo ¥ 7 PR ST A s g
F o e P aRRaRE! qur oTavrs Ry F aoE #1585

8.  What is a share warrant ? What are the conditions of issuing
share warrant ? What are the legal effects of issue of share
warrant ? 15
gier orftres O ¥ 7 @6 Re oftfafrdt § P Rear on
T & 7 oy o Frite 30 3 o dfe gyE ad
g7 15

9,  Discuss the method ofissuing debentures. What are the remedies

available to debenture holders ? 15
woT @ 3 Pl & R @ e S R 9 9 S 9

I T & 7 15

12694
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Time allowed : 3 hours|

12695

BAM /M-17
BUSINESS LAWS-II
Paper—-BC-405

[Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is

Nwm...

1.

compulsory.
%7 97 499 & g7 A1 7T GE& 1 AT 81
Compulsory Question (31ar 4%)

(a) Explain the necessary conditions for Implied Authority.
1fa sfaer 3 foe omawgs ot @ IwE Hfaw.

(b) What are the advantages of Registration of Partnership firm?
e o & ofmT $ PA-Ee | A g ?

(c) Explainthe provisions of FEMA regarding Realisation and
Repatriation of Foreign Exchange.

fReft Rfme @ a9 @ gae @ @Etad FEMA @
yREHl Haffa #@ |

(d) Describe the Powers of Central Government in respect of
Digital Signature.
% wa B R swer & gy § g B e
() Write salient features of Competition Act 2002. 5x4=20
yfereget aifafem 2002 F RASwad Faqrd | 5x4=20

What do you mean by Outgoing Partners ? Explain rights and
liabilities of a outgoing partner. 15

IR 2 R UEEN § oY F g9 £ 7 W BM g 9RiEr
& oftrl W@ afadl @t goi i 15

12695 _ [Turn over

8.

(2)

What is Dissolution of firms ? Explain the various methods of

dissolution of'a firm. 15
wf 3wy w1 E 2 ol @ g @ R Rl @ ais Al
15
State the main provisions of FEMA-2000. 15
FReft R yeeg aiffEa-2000 & T@ TEEE] B oavE B |
15
Explain the legal provision of FEMA regarding appointment of
Adjudicating authority and enforcement of its order. 15
Ay witwrd @ FERe oft oMy & gadw @ wetu Rt
Rfrre geeg ot @ gEarl & oW e 15
What is Electronic Signature Certificate ? Explain the rules
regarding license to certified electronic signature. 15
R R WO o ¥ 7 e il FR @ aEdd
TR (Tl @ S B * 15
Write note on ;
(@) Regulation of Certifying Authonty
(b} Cyvber Appellate Tribunal. TETY
et ot fraef R
(%) warme wfEd @ Fom aeedt S gEeE
(@) =EET sl ~raEwT | 7+ 7%
EXPia- 121 the combination and state provisions regarding regulation
of combinations. 15
ﬁ%ﬂ%ﬁﬁ%ﬁmﬁﬁ.&ﬂﬂ%w_ﬁx. .Wq@dﬂummnﬁm_&ﬁ
quq Fifrg i

Write adetailed note on Competition Appellate Tribunal. 1S
el ardiety =l W oo R Rl @

12695 -
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BCM/M-17
FUNDAMENTALS OF INSURANCE
Paper-BC—406

Time allowed : 3 hours ] [Maximum marks - 80

Note : Question No. [ is compulsory. Attempt any Sour

questions out of remaining eight questions.

e ;g gEar | %ﬁ?%%@ﬁ%@%ﬁwﬂ
q97 g

Compulsory Question (sf¥arf 75)
1. Explain the following : 3x4=20

() Need of Insurance with economic aspect.

(@@  Charactesdstics of Life Insurance.

(@) Types of Marine Insurance.

(tv)  Only Liability Policy of Motor Vehicles.

(V)  Authority of Agents.

=t % arem #Hivw 5%4=20
@ o sme % o o 9 g

() T dm & RSt

(4 =9 9 B o

vy T e o) e mfier gy

(vj 1R @ sl

12696 Munover




(2)

2. What do vou mean by insurance ? Explain the types of
insurance. S4+10
So @ Wy w0 auEd € 7 4 & et oA 0 5+10

3.  Writeshorinoteson: Hiv
@y  Assignment
(1) Nominations
foey g7 dfe e B 13
O o=

4.  "Fireinsurance is a contract of indemmity and utmost good faith™.
Explain. 15
ot S wtrfd o W aeRivaE @ SR B @ a0

15

5. Provide the different provisions related to voyage and loss and
abandonment in marine Msurance. 15
e G 3 g oF e ae oiert @ R SraE S |

15

6.  Whatismotor insurance ? I« it compulsory ? Ixplain the various
policy provisions of motor insurance. 2+3+10
frev &y am ¥ 7 4 e ared B 7w dimr @ Rl difen
i s e e S n51.410

7. What do voumean by claim ? How the claims are seftled under
FIEGLON HISUraEnee. 5410
s B ey F SR R Y T AR St A A
P e fea e 27 410

126596

(3)

What de you mean by insurance agent 7 State the rights and

duties of agent. 510
G vde § own o ¢ 7 W & v TE dEed 99

5410
Fanlain the following : Ix5=1%

¢y Premium calculation method in marine Insurance.

iy  Subrogation in Fire Insurance.

oy Nomniation in life Insurance

feq ) T W 3x5=15
() g de 9 G o @ R

() @R e T iR

i) SfEd dm g AT

12696
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HUMAN RESOURCE I .
Paper-BC-411, Opt. Group-II'Fd RM)
Time allowed : 3 hours] \Eﬁmimﬁ marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory,

qe: FA T TE F T A T g 1 e &
Compulsory Question (#fam ww+)
1. (a) Distinguish between HRM and HRD.
AME HHEE U9 04 A9 dand Rem § e 9o
(b) Human Capital Appraisal Approach.
A R i R
(c) Principle of training.
gl % frer
(d) 360° Appraisal
360° gegiw |
(¢) Quality Circles. 5%4=20
REEEIEERN 5x4=20
2. Explain the concept and objectives of human resource

development ? Also explain the benefits of human resource

development. 15

Aqd GO9S @M # S@uon U 2@ & guiH &1 3Md
darH e @ Rt andt @ & g 15

12701 [Turn over




tod

(2)
Write short note on : 8+7=15
(a) Objectivesortraining. (b) Training and development.
Freafafed w e fwd - . 8+7=15
() WREM 3 FE@ (@) wiwor od R

Explain the principles and functions of career planning. 15

g Frdom & Rrart @@ I F1 Reaw e 15

What do you mean by performance appraisal 7 State its
significance and process ? 15
P eaie & A9 T AU 8 7 9P e Ud Wkl B gu
HITT | 15
What is meant by TQM ? Describe various fundamentals of
TQM? 15
TQM & 7 ftmm B ? 398 Rfv= g oet & s Fifm

15

Explain the role of information technology in HRD ? 15

uRe gaed e § gEw e & gfva @ el s
15

What are the barriers in the way of effective employee
empowerment 7 Also explain the methods used for making the
empowerment effective ? 15

TR HHEN] IRl § oM ar amaist &1 o Hifry ) e
IR # g9Er 91 ) ad@ @ @ e S 15

Explain human resource development climate and discuss its
various components ? 15

qMq d9e e aaEe o 399 AR gt @& avF iR
15

12701
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BCM/M-17

COMPUTER APPLICATIONS
Paper—BC—406

12709

Fundamental of Database System-11

Time allowed . 3 hours]

[Maximum marks : 60

Note :  Attempt five questions in all. Q. Ne. 1 is compulsory.

e Gig 797 HT 9N g qew 1 sty &1

1. Explamwithexample:
(a) Break clause.
(by Tuple
(¢) Database links.
(d) Business rule constraints
{ey Update command.
(N Uniquekey.
(a) Breakclause.
(by Tuple
(¢)  Database links.
(d)  Business rule constraints
(e)  Update command.

(H  Urique key.

6x2=12

6x2=12

2. Desciibe various set oriented operations that can be performed

on 4 relational database.

12

Relational 37039 & 3557 set oriented 3MRIFE %1 I @igd

IO T |

12709
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3. Explain:
(a)  Triggers
(b)  Indexes. 246=12
ol Y
(a)  Triggers
(b)  Indexes. 2-6=12
4. Diflerentiate between -
(8)  Natural join and Oyter join
(b)  Equijoinand Non-equi join, 276=12
¥ fag
{(a)  Natural join o Outer join
(b)  Equijoin a4 Non-equi join. 2xg=]2
5. Define table ? Write the syntax to create g table in SQI. 2
Describe relational and domajn constrainis ? 12
Table #1 % ? SQL ¥ Table g7 1 e B | Relational and
domain constraints #r qoi % ; 12
6. (a) Whatarethe duties of DBA 2
N 1 7 Py iy ¥ v
{b)  Whatare background support E,ogmwow in Oracle ?
Oracle ¥ Background Support Processes a7 # 7
2467212
7. (2)  Explainthe Architecture of Oracle.
Oracle % A&y 7 avlq &%
by Application of Oracle in business,
A Oracle % sy v = fen | 2¥6712
12709)]

Write short notes on :
{a)  Views
(b} Svnonyms

(€)  Create directory

(d) YVunctions 4x3=12
Hig e fory

(@) Views

(b}  Synonyms

() Create directory

(d)  Functions 4x3=12

What do you mean by term DML ? Write down about various

DML commands with examples. 12
DML & s aon atfmry & 7 fafeey DML commands & g¥ i

ETETOT Hie fard 12

[12709]
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BCM /M-17
OFFICE PRACTICE AND COMMUNICATION
(Part—A) Theory
Paper—OMSPBC (Voc)-405
Time allowed : 3 hours] D\SHH.EQE marks : 60
Note : Q. No. 1 is compulsory. Attempt four questions from

remaining eight questions. All questions carry equal

marks.

qe . gerd. | g 8199 a1 get § 4 #7910 5T S
o geA F o garT
1. - Write short notes on following :
@ Timeand Date Stamp
(i) FrankingMachine
i) Quotation
(iv) Vistors Diary
(v) Sorting Table
(vi) Official Letter,
i ov wftre femfirr fifaa
() 73 a Rl ofeT Siet
(i) fewe gor 4

12710 _ [PTO.




(2)

(i)

(V) swig® S

(v) ST B

(Vi) HrEREE = 6x2
2. - Evaluate Decentralization of mailing department in a business

office. _

ARE BT F oS A B REdweT B e

HIFAC | | 12

3. Whatis Letter Sent Book ? What are its components ? Prepare

a specimen of Letter Sent Book.

o I G B Rl B 7 e ar e A ¥ 7 o3 fEe
YR 1 0 e g 12

4. Discuss points to be considered while drafting a business letter,
A T F OET D FC AN 3N A Rigel @ qol
) | 12

5. Explain and distinguish between official and commercial

correspondence.
FEATE T A G F A7 A gy I A Hiew |
12
6.  Write aninterview letter for a post of private secretary.

il @@ % v 3 @R @ o e 12

12710

(3)

Discuss factors to be considered while selecting office

equipments. :
FAE 3G ST F AT T TR AT @ A G
o i | 12

Discuss meaning, objectives and advantages of appointment

schedule. Prepare a specimen of appointment schedule.
FT e orqael 3 ord, SRedt oA At @7 Aot A ) T
Fratr gt = oF T ae 12

Explain routine of handling dak in a business office.

AN e § 3 HAe # e anaed | 12

12710
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BCM /M-17
SHORTHAND ENGLISH
Part—A (Theory)
Paper- OMSP-BC-406
Time allowed : 2 hours] [Maximum marks : 60

Note :  Attempt five questions in all. Q. No. 1 is compulsory.

All other questions carry equal marks.

Pe ;g O 9T 7T g qe 1ofard &1 el g &
T 3% &
1. (a) WhatisPrefix?
| Prefix %t @1 ot & ?
(b) Whatis Contraction ?
‘Contraction’ %8 #&3 & ?
(¢) Rule for Medial ‘ct’. Give two examples.
Medial ‘o’ 3 fram sad ol @ FameeT € )
(d)  Give four examples of Halving Principles.
‘Halving Principles’ & a% 3a@ R |
(¢) Whatis Phraseography ?
RRrdmmd = 8 7

()  Draw outline of two words each of ‘Upward R” and
Downward ‘R’.

e ‘R AT TEEe CROB A3 A= i da e |
6x4=24

12711 PTO.




(2)
Phraseography is used in Shorthand. Explain the uses o1 doubling
principles in phraseography.

“agfafy ¥ s @ wEm Ren s § bR # doubling
fre=t & SwEr @1 g9l FY 9

Explain the Aspirate, Tick and Dot ‘H’ with examples.
Aspirate, o% 3T Dot H @1 33 @feq qoi aifig | 9

Explain the Intersections in Shorthand.
gty & gerdere # aE F| 9

What do youmean by compound consonants ? Explain different
compoud consonants with suitable examples.

‘B = B Fea 2 7 e e 29t @1 S wfa
qu HT | 9

mxﬁ_mE the use of different suffixes in shorthand with mxg_a.

Fyfeil § wam B W A R ‘suffixes” & SamEwor ofga
o A . 9

Explain the writing of figures in shorthand and Note-taking
techniques with suitable examples.

anyffy ¥ figure 3% Rrame M Note-taking da-ia @1 Jamecer

afsg aviv 7 | 9
Draw the following contractions used in shorthand :
(i) Organiser . (ii) Wwﬁ:@:o
(i) Difficult (iv)  Enthusiasm
(v)  Electricity (vi) Inform
12711

(3)
(vi))  Subject (vii)  Messenger
{ix) Dangerous

oyl ¥ wgE PrefaRed wd @ R @b

(i) Organiser (i) Republic
(@) Difficult (iv)  Enthusiasm
(v) Electricity (vi) Inform
(vii)  Subject (vii) Messenger
(x) Dangerous 9

9.  How Halving Principles are useful in shorthand ? Explain with

suitable examples.

MR & ‘Halving Principles’ g war @ems § ? @
qigd A= HL 9

12711
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Printed Pages: 3

BCM/M-17

INSURANCE, FINANCE AND
LEGISLATION-II

Paper-BC—406

Time allowed : 3 hours] [Maximum marks : 80

Note :

‘NWN-..

Attempt five questions in all. Question No. 1 is

compulsory. All questions carry equal marks.

5T Qi 997 B IEY A1 997 aear 1 siard &1 s g9
P 3% g B

1.  Write short notes on the following :

(a) ExtraDividend

(b) Reinsurance

(c) Powers of controller of Insurance

(d) Insurance Surplus |

(¢) InsurableRisk. 5%4=20
Frefafea o Hitrg fewfmar iR -

(a) ITfRR=r amwig

(b) g

(¢) & Fr= i aftEr

(d) & s=a

(¢) &M g Sty 5%4=20

12713 [PTO.




(2)

Discuss in detail the nature and sources of Insurance

Surplus. 15

S = P A 9 Gial @ Regd feeEr S 15

Explain in detail the investment policy of Life Insurance

Corporation. 15
e & Frm &1 fafae Sfed @ fawga o @R 15

What are the basic principles to be followed while investing of
Surplus and Reserve ? Explain. 15

o A e @ R w0 @ areE R @t

T H AR ® ? g HE 15

Describe the statutory provisions relating to the registration of

an insurance company. 15
g F B W § Eraq JEE wEEE H5 oo
HIHT | , 15
Describe the main provisions and functions of L.I.C. as
discribed in the L.I.C Act 1956. 15
St € P e 1956 & T EeE g w0 A
IR | 15
Discuss the functions of the General Insurance Corporation
of India. 15
A e dm e & el w oA & 15

12713

(3)

Discuss the powers and functions of IRDA. 15

§7 P od famm ofeer @ it o wEt & e

HIT | 15

Explain in detail the risks covered by Export Cradit and

Guarantee corporation. 15

Prafa o1 aun R Fem g R e A St e @

qU A | 15
12713
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BCM/M-17
ADVERTISING-II (ii)
Paper—ASPSM-BC (VOC)-405
Time allowed : 3 hours] [Maximum marks : 60

Note :  Attempt five questions in all. Q. No. 1 is comprising of
five short answer questions carrying 4 marks each is
compulsory. Attempt any four questions from the remain
eight questions, carrying 15 marks each.

FT ;I 9T 5T F ) G % J9% B 91 agaoq ge )
797 7 | dfvard &1 95 a77e 797 § & FE a0 997
y&qw F 15 % &1

(Compulsory Question) (S 557)

1. (a) Fractionsofadvertising Deptt.
s R & i |
(b}  Full Service Agencies and Special Service Agencies

ool Qe S o R At

{c) Give some suggestions to improve client-agency
relationships.
O F99 R & R B o & |

(d)  Short note on “self regulation to control over unethical
advertising.”
“orefEne g ShfkE Rl ) FEer” o afie
i o |

() Why *“‘pre-testing of Advertising effectiveness™
is important ? 5x4
s & g 1 g e F AEEye @ 7 5x4

12714 [PT.O.




(2)

Explain the functional Departments of Ad-agency organisation.

Is it absolutely essential to use avertising agency 7 10,5
FrmTa OO Te & S [T T avie & | s
wordt 1 JaT A i YT € 7 10,5
What do you mean by misleading and false claims ? What rules
are framed by the govt. to regulate advertising ? 10,5
TG HIT AT I HS AAT T A B ? AR F fasm &
P wedt, FTFR a0 A FEe & T E 5,10

What is the advertising agency ? Explain the benefits of

Ad-agency to client and media. 3,6,6
R wodl @ & 7 3O Uew @ WS B 8W ar ardl @
o & | 3,6,6

Write a detailed note on ‘Pre-testing’ and ‘Post testing’ methods
of measuring advertising effectiveness. _ 15
“fgoe d gdeer RftE, @ e sea ale Rfar
R R @ feoel ford, B fsToe &t g9EiaEgar # A

T T | | 15
Give a detailed note on ‘Methods of Remunerating
Ad-agencies. 15
“Rrame witEEl @ TRl 3 # BREP w R Al
ferd | 15

What is the need to measure the advertising effectiveness ?
Write the vrious approaches of evaluating the advertising

effectiveness. 5,10

12714

(3)

RETT @ GEEEEE AU & ) STEedd & ¢ fase
TR & JediE B AT JIRHT Pl o | 5,10

Explain the various functions performed by ad-agencies.
What factors should you keep in mind, while selecting
anad-agency’ ? 8,7
s oofaEt @ R S A B et @ aren w1
0% [SI0E COl & T & §9d, 9 B dw @ S |
=it | 8,7

What do you mean by advertisng Department ? How advertising
Department may be organised on the basis of product, functions,
geographical area and media ? 3,12

Tt feramT & onae ey i B 7 o fasmes s & R
STRE (S © ST, FE, Wi A a9r diE) ) e 5w
quifed Ream o dehar & 7 3,12
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BCM/M-17

PERSONALSELLING AND
SALESMANSHIP-II

Paper—ASPSM-BC (Voc) 406

Time allowed : 3 hours] [Maximum marks : 80

Note ;  Attempt five questions in all, Question No.lis

compulsory. All questions carry equal marks,

A ;7 G g & S ) 59T 7. 1 G 1 @ e
F HE T E

Compulsery Question
(stfrard 5¢7)

1. Write short notes on the following :

(a)  Selling as a career.

(b)  Benefits of Sales Manual.

(c)  Duties of Sales person.

(d) Tmportance of Salesmanship.

(e)  Tour Diary.

Frfeie @ |fre feaeft it -

(2) Fodl o% 99 B w0 T

(b) feeft Faftorer & @

(¢) Tdmgwal 3 Faea
(d) fpoa 7 92w
(&) T =i

12715 [PTO.




(2)

2. Whatdo youmean by Salesmanship ? Explain the advantages
and limitation of mammamumgu.
Pt | SO AT SR B Rk B e ud il
& T FL |

3. Explainindetail qualities of an ideal salesman.

T aedl Rl & o # R § aren #if

4. Explaindifferent types of services provided by sales person to

the consumer.
BRI A |
5. ' Explain various measures for making sellirig an attractive

carcer.

feepa 1 sudns Qa9 % foro fafim gamet @ avlw i

6.  Explain the role of Distribution Network Relationship in
Ed % & feer ser d6d # qfve @ e fivn

7. Whatare different types of reports used in personal selling by a

salesman ?

% gt a1 Al fGwa § g@v 4 9 A At i
% g & sady

12715

(3)

8. What do youmean by cash memo? How it is prepared ? What

are its advantages?

S A0 B e 7 qud) hE T A e e S 7 3
I P A F® B 7

9.  What are the problems being faced by salesman in modern

time ?

AT 1 F Rl g0 AE P S A arenat $ faw
o |

12715
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OBCM /M-17
BUSINESS REGULATARY
FRAMEWORK-II
Paper-BC-401
Time allowed : 3 hours] [Maximum marks : 80

Note :  Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks.

He . FT O geT I g 9T §. 1 A 81w g
% 9% 747 &)
Compulsory Question (S1Fa/ 9¢7)

1. (a) Distinguish between Sale and Hire Purchase Agreement.
fasa qa Revan-#a oedd § A= Fif
(b) Why title of goods is transferred from seller to buyer ?
fesban & & &1 aRjel @ W@ W R H e S
37
- (¢) Whatis crossing of acheque ?
UF A% F I@ET A 8 ?
(d)  Explain maturity of a Bill of Exchange.
fafma fawm @t oftwgaar #1 abl HiRm)

(¢) Explain consumer of goods under Consumer Protection

Act- 1986.
SUAIFT | - 1986 % ST awg B SwHiE &
it i |
()  Detine Current Account Transactions.
T A FEEN B AN B | . 16

12716 PT.O.



(2)

What do you mean by transfer of ownership ? When will it
be deemed that ownership of goods transferred from seller to

buyer ? .
Mﬂﬁmwmﬁﬂs@%ﬁﬂsﬁnﬂwwg@%&q&
% hE SR B Hg g A 7 16

Whenis a seller of goods deemed to be un paid seller ? What
are his rights aginst the goods and buyer personally ?

%%@nﬂ%ﬂw%ﬁ&ﬂwﬁagw:o

Explain the different ways in which acceptor of a Negotiable
Instrument is discharged from Liability.

3T BfE A A aen w0 Py o ke @ e @
wiwd R i | gw @ o B 16

What are the rules regarding presentation for payment of a
Negotiable Instrument ? When is such presentation not
necessary ?

By @ e B gEE 3 frg el @ ddf Rrm a3 7
At @ fide & PR w0 @ R wgdEen 59 s
g7 16

What are the main elements of Consumer Protection Act,
1986 ? Explain the need and importance of consumer

protection.
IR HET A 1986 3 ugE aw w ¥ 7 awsi g
! AEAWFET T Yo F A F 16

[12716]

(3)
Fxplain the different Redressal Meachinary for consumer disputes

prescribed in Consumer Protection Act 1986.

9T Raret & Framer @ fae SgeieEn weeor st 1986 #
affd a8 @ #ifg 16

Explain the regulation and management of F oreign Exchange
under FEMA.

FEMA & srfa fRsht ffrmg &1 Pramr @ weeg @) aflg
FHifA | 16

Write note on :

(a) Authorised Person

(b) Enforcement of order of Adjudicating authority

frr 93 Pl it -

(a1) otfyea =i

(@) e w3 oy @ g 8+8

[12716]



(8)

i) 319 So&&woooo I 2 @i o famg & T R
T gami

(i) gt e e o 2 15% wfisM & gt & @ 76
B &1

(V) T W 3 FaRe fan & 5% smae dfaw @ B
i g a9

V) =™ F = 7 150,000 T fiferge g 3

(Vi) 2,38,250 ¥ aeretw fiord & meiafts 34

31 7 2004 %t YAy @ 7 AE-aFT @w )

9. Writenoteon:

(i) Claim for consequential losses -

(i) Inter Company transactions in the Ioa_bm Company.

e fog -

@) omgefE E & T

i) Fo=s Fod § o FE dad

12717

Ww: NO. oo 12717

Printed Pages : 8

OBCM /M-17
CORPORATE ACCOUNTING-II
Paper-BC-402

lime allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. All questions carry equal marks.

AT ;g a7 qe7 H 37 &1 477 wEw 1 vt &1 w gs & o

1.

garr 21
Explain briefly :
e w7 § A -
() Need for Valuation of Goodwill.
Ef e # SeEH |
(i) B-listofcontributories.
TRRTN B A-gat
(i) Compulsory winding up of company.
F! B APEd =
(i) Unrealised profits induded in stock.
®iT & afafe s am
(v) Noclaim Bonus.
& W Iy
(v} Average clause insurance policy.
s ara dm Orfe
Following informations are available in respect of a business :
TF FEY @ g Frefifed qee some §
(i) Total of fixed and current assets as per balance sheet
T 3.00,000
g ot § el 7 A wuRE @ g7 9 T 3,00,000
(if) Outstanding liabilities T 90,000
3 Al T 90,000.

12717 | Turm over




3.

(2)

(ii1) Profits of preceding three vears T 30,000, T 28,000
and ¥ 38,000.
freqr = gl & @ T 30,000, T 28,000 7 T 38,000

-l

(iv) The normal rate of return on the basis of market
interest rate is 10%.
IR &S & ATA q YN g7 10% 8

(v) Interest earned @ 10% on non-trading investment
0f T 40,000 has been included in the previous 3 years

profits.
frea 3 o & @t & 40,000 5. & I sgais Feaq w
10% @ 3 & oifviq s wfafed 21

(vi) Rent of business premises @ ¥ 500 p.m. will not be
payable in future.
A d 500 T afome @t & 4@ gwilE 9 #@ R 2
T8 B

(vit) The fair remuneration to the proprietor of business
may be assumed as ¥ 800 p.m.
et @ 800 I sfeems aiRafes 3 790 Amw)
Calculate the amount of Godwill by capitalisation
method.
Jetter fafy | @i & o #7

Write note on :

e fafew

()  Calculation of capital employed while calculating Goodwill.
@i # O W e A o B e

(i1) Dividend Yield method for valuation of Shares. When
itis used ?
S e @ A o By ) gEe aw w9 R a7

12717

(3)

4. Following was the Balance Sheet of XYZ Ltd as on

31st March 2007
Liabilities

5000 Equity Shares of T 100 each
Profit and Loss Account

Bank Owver Draft

Creditors

Provision for Taxation

Proposed Dividend

Amount
4
5.00,000
1,03,000
20,000
77.000
45,000
75,000
8,20,000

Assests Amount
4

Land and Building 2,20,000
Plant and Machinery 95,000
Stock 3.50,000
Debtors 1,535,000
8.20,000

The net profits after deducting all working charges and providing
for depreciation and taxation were as under :

4
95,000
96,000

2003
2004

2005
2006
2007

4
90,000
1,00,000
95,000

On 31st March 2007 Land and Building was valued at
T 2,50,000 and Plant and Machinery at ¥ 150,000. In view of
the nature of Business, it is considered that 10% is the reasonable
return on the tangible capital. Calculate the value of Shares as
per Net Assets Method after taking the goodwill at five years
purchase of super profits.

frfafas 31 o 2007 Bt XYZ . & fafy faawo & -

BBl

100 7% % 5000 T9AT HT
A @

d% afufyed

AT

F F U gEaE
RESIECRE

12717

i
g

5,00,000
1,03,000
20,000
77,600
45,060
75.000

820,600

RS LI Tfar

4
g g e 2,20,000
e g AN 95,000
wih 3,50,000

CE AR 1,55,000

8,20,000

[Twn over
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(4)
mﬁﬂ@nﬂ%mﬁaﬂﬂﬁwmﬁﬁ%w&@ﬂmw“
3 4
2003 95,000 2005 90,000
2004  96.000 2006  1,00,000
2007 95,000

31 w2007 & 9 G 979 A 2.50.000 T =0 @< @ EEIER]

& g 150,000 X ar) FTEE et @ am ¥ e gu 10% '
wm@ﬂﬂmﬂgﬂmﬂamﬂa?%ﬁﬂm%wﬁ@
%&ﬂéﬁ&ﬁﬁm%ﬂdﬂ%ﬁ%ﬂ%ﬂ_

5. What is consolidated Balance Sheet ? Show the treatment of
Issue of Debentures and Preference Share issued by subsidiary
Company to the Holding Company while preparing the
consolidated Balance Sheet.
%%ﬂﬂﬁﬁf%%ﬁﬁ@ﬁﬂ&ﬂdﬂﬁ
ﬂﬂ&@ﬂ&@mﬂﬁ.ﬁm%%ﬁwﬂ% 1 FERR &)

6. Andhra Ltd. went into voluntary liquidation on 31-3-2001.
The balance sheet on that date was as foliows

Liabilities Amount  Assests Amount -
4 4

Share Capital Land 50,000
5,000 6% Preference Shares of Building 2,00.000
Z100 each 500,000  Plant and Machinery 625,000
2.500 Equity Shares of T 100 each Stock 1,37,500
T 75 Paid up 1.87.500 Sundery Debtors 2.75,000
7,500 Equity Share of 100 each Cash at Bank 75.000
T 60 paid up 450,000  Profit and Loss Account 4.10.000

5% Debentures secured by a

floating charge on assets 2,50,000
Interest due on Debentures 12,500
Bank Over Draft 1.00,000

2,00,000

Unsecured Creditors

Taxes dué 1o Government wihin 12 months 12,500
Salaries and wages due for 4 months
for workers. 60,600
17.72.500 1772500

e ——

12717
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The liquidator is ent
. a titled to a rem i
— uneration of 5% 3
real MMMWmmeWﬂ. cash and 1% on the amount Q.MMMM_.M: mmwoa
unse 4 editors other than preferential creditor Em i
iwmoeﬁwr Hmm_ﬁmoﬁqoama z° %w deposit of title deed of land and ME_%:w
-00,000. Other assets realized as follows e

Mmmzwga Machinery _

oc 5,00,000

Sundry Debtors 1,50,000

Expenses of Liquidation 2.00,000
27,250

Arre ivi

e _MW MM, ﬂao.mwm.njoo dividend are to be paid automaticall

e ime of | mmmmmwo:. m.m%mao Liquidator’s final mSAoEnnw mm
0 L as ets realized and obligation discharped o.
- - Dividend on preference share i for two

v S was In arrears for two

31.3.2001 =) a1 R, 3 2 ;
gﬂﬂﬁa%ﬂﬂ.w _ A e | 39 Ry ay Rufy

e
W gy e
mw T 5000 6% T M_M 50,000
HT 10T T2 2 0
4: THA A, 100 T Wl =t 6.25,000
75 9eT 1,37,500
- e HmmﬂuMOD %ﬂ Wﬂﬂ._‘ﬂv 0
m.m% AT #9100 T 94F S5 § T 2,75,000
60 U3 7
4,50.000 ®9 FW @R 4 o
10,000

%% RO TH YA qv
BIECRE G
T 2 e 2,50,000

W&ﬁ& zamﬁﬂ 3 = 12,500
st 100,000
s 2,00,000
12 TR F A G
s ﬁ 12,500
E AT AR
w.,uﬂ g u.m_ﬂ@
_ w 60,000
17,72,500
12717 — 17,72,500
[Tum over




(6)

PN T2 & s e wwE @ o w 5% me

afvstrn T 7 T g d § g 1%
Eﬂﬂ@w&ﬂﬁ@ﬂﬁ%mﬁﬁﬂﬁ@mwﬂn&

g 3,00,000 5.521 s waRE A
T g g agel FrafoRas B

wie 5,00,000
e 3R 1,50,000
S — 2,00,000

27,250

%ﬁﬁdiﬂﬁﬂaﬁﬂwmﬁﬁ“@agwmvﬂﬂﬁ
%ﬁgg@%ﬂﬂm&%&%ﬁ%mgﬂmﬁ
TI 1-4-2001 B g1 Qi awigr @ aft 3 39 3,

Give the format and conten
ts of Bank’s Balan :
shedules according to Banking Companies Act ¢ Sheet with

I e i 3
S—— AR IR W % ot el

Following balances appeari .
pearin the bo - ]
Co. on 31st March 2004, oks of Singla Fire Insurance

Particulars

Reserve for unexpired risk ?Hc%b o0
Premium Received 20,000
Re-insurance Premium Paid 0000
Claim Paid 50,000
Claims outstanding 1-4-2003 W.mo.oo@
Reinsurance Claims 50000
Commission o000
Loss on Exchange 6000
Expenses of Management 8 MUMNM
Income from Investments 2 Mo“
Income Tax on above Jﬁvwmm

12717

(7)

Other Information :
(i) Claims intimated but not accepted on 31 March 2004

20,000

() Claimsintimated and accepted but not paid on 31 March
2004 T 90,000

(iliy Commission due on re-insurance premium paid @ 5% were
not yet recorded in the books.

(iv) Inaddition to usual reserve, provide 5% of net premium as
additional reserve for unexpired risks.

(v) Premium outstanding at the end of the year were 3 150,000.

(vi) Transfer to Catastrophe Reserve ¥2,38,250.

Prepare Revenue Account and Profit and Loss Account for the

12717

year ended 3 1st March 2004.
31 ﬁwoo&&ﬂj%%ﬂaﬂ%&mﬁ&wﬂﬂw@m
i g .
ECEL o ¥
AT ARae @ fau g 4,50,000
diftram gt ‘ 8,00,000
g e R | 80,000
EXLECUGIE _ 5,50,000
= = 1-4-2003 1.20,000
ESEiRIESL] 60,000
FH1H 70,000
fafrgg W B 6,000
e g 85,000
frEs & o 2,20,000
T 9 AGER 44,000
w4 I ¢
(1) wouoocﬂw%u_ﬁwoonﬂﬂwﬂwaﬂ%%@m
T A
[ Tum over




(4

F) AT ST T 49 7% ) - B A9 e
SRR o i 8
@ THI0TTH HFEFE 1 F100 7% U9 Sifa 21 0@
IS 39 TR T B ST & qT AT AR § | SR S
R % GO A5 6 31 # 10 | T BFT | 8

‘What is Normal Distribution 7 Discuss the main characteristics
of the Normal Distribution. 16

A e @ € 7 sl e Qs @ avE sid | 16

A manufacturer of bulb knows that on an average 5% of his
production is defective. He sells bulb in boxes of 100 pieces
and guarantees that not more than 4 bulbs will be defective ina
box. What is the probability that a box will meet the
guarantee ? {e° = .0067] 16
% I (T w SlEaT W ST 5% 21 9w 3% 100 &
T § I 2 IR TR I 2 B w g 7 49 ofYs we
a9 TEl BN T B TG 0 A # miemm g 7
{e =.0067] 16

{(a;  Theaverage height of students of a college is 65 inches
with a variance of 16 inches. How many students out of
total strength of 2000 would you expect to be over 6
feet tall ? : 10

(b)  When Poisson Distribution tends to be normal ? 6
(@ Ut Fow & Gl # olag S8 65 39 9 FE
16 35 1 2000 fenf¥idi & 4 6 %z & ofvs & fRA

Rt &9 2 10
(@) dad (e B a9 3 o e e & e
ST 2 & 7 6

12719

RollNo. ... 12719
Printed Pages : 4
OBCM /M-17
BUSINESS STATISTICS-1I
Paper—-BC-404
Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. All questions carry equal marks.
e :  FF Ga 997 BAQ T 53 S &1 w4 997
U F &1
1.  Attempt the following compulsory shostanswer type questions:
{(a) Whatisthe utility of analysis of time series 7 3

(b) Explaininbrief the various components of time series.3

(¢) Whatisrandom experiment ? 2
(d) Define Poisson Distribution. 2
(e)  Whatis the probability of getting two 'fives' if we throw
2 dice simultaneously ? 3
(fy ~ What is probability distribution ? 3
frfafan dft ST afard 9et 1 ST ¢
(F) F o0 fasdeer & 7 9w B 7 3
(@ & I @ e dood @ dau ¥ aF Sl 3
(M T AT aar g ? 2

()  OfaEe o # o HiRe g

12719 [Tum over




(2)

(3) 2 T B O W FBA R A 5 30 A 9 o g9

g7

(@ i fEer e g ?

2. Whatistime series analysis ? Describe the least square method

3
3

for determining trend in time series. 16
ﬂmﬁﬁm@sﬂwW%ﬁmﬂgwﬁmw@
I & @By @ aol # 16
3.  Fitastraight line trend and find trend values for the following
data by method of least square : _ 16
Year 2001 | 2002 | 2004 | 2004 | 2005
Profits (in crores Rs) 4 7 3 6 8

Pra ool @ JAed @ Ry @ o T ey &
FIRR o SR wghy s1a A

16

Year

2001

2002 | 2004

2004

2005

Profits (in crores Rs)

4

7

3

8

4. Find seasonal variation by the ratio to trend method from the

following data : 16
Year | IQuarter | II Quarter | Il Quarter | IV Quarter
2001 30 40 36 34
2002 | 34 52 _ 40 44
2003 40 58 i 54 48
2004 54 76 68 62
2005 80 92 86 82
12719

(3)
=1 et & wgfa o Gt qar eted Rrerer s SR

Year | IQuarter | If Quarter | III Quarter | IV Quarter

2001 30 40 36 34
2002 34 52 40 44
2003 40 58 54 48
2004 54 76 68 - 62
2005 80 92 86 82

16

- 5. Write short notes on the following : 4x4=16

(@) Exhaustive Events

(b) Bayes' Theorem

{¢) Mutually Exclusive Events

(d} Importance of Probability A
Frfafas w diira A ol - 4x4=16
@) Wt g

@ 355 g

(M IRERE duEs geant

(F) TN F Ted

6. (a) Abagcontains 5 black and 4 white balls. One by one

three balls are withdrawn without replacing them.
What is the probability that all 3 balls are of the same
colour ? 8
(b)  Abook containing 100 pages numbered from 1 to 100.
A page is opened at random and is selected. Find the
probability that opened page is multiple of 6 to 10. 8

12719 [Tum over
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OBCM /M-17

PRINCIPLES OF MARKETING-H

Paper—-BC—405

Time allowed : 3 hours] IMaximum marks : 80

Note : Attempt five questions in all. Question No. 1 is

e

Compulsory. All questions carry equal marks.

T qig g @ oY aPmy g7 gewr 1 a8
gt g # oF gwT &

Compulsory Question (3FaR 957)

1. ﬁ_ﬁﬂn short notes on the following :

{2)  Skimming the Cream Pricing Policy.
(b} Difference hetween wholesaler and retailer.
{¢} Warchousing
{d) Entertainment Advertising
{e} Consumer related Sales Promotion activities.
{f)  Public Relation Tools. 2+3+243+3+3=16
@ W TR aE g A
(@ arFERa 0 GER A ¥ AR
(M H1EE
12720 { Tum over




—
[ Q]
—

(L_] _{:1‘
E
5
ﬂa
i
57
3

14342434343=16

Whatis Pricing ? What are the various pricing obiectives which
the marketing manager should keep in mind while taking Pricing

17

decisions ¥ G412
I Fohor B o#RY € 7 gm Pk Bl 35 sy oow
Qur-E H DT-FE Y 57 Rell B o § e e 2

442

Explain the factors determining the cheice of sunable channel
of Dhstmibution 4+12

W BI0T 9N § YT # YWY a0 o 98§ e
Ffim g 4+17

Define Retailers. What are the services rendered by the
retailers 7 4412
SR R B qtae AR geE REm ma Seed 9
qow T & S 8 v 4412

What da you understand by Physical Distribution ? What is its
nportance in business world ? 41

Wit BT o o g wned ¥ v safe s B sam e

g B “

12720

{3)

What do you mean by Promotion Mix 7 Explain main
b ) p

components of Promotion Mix. 4+12
dast fger B oy g AaEd § 7 wadA fuaer & faReg o
T =y 4+12

"Advertising is wasteful and unnecessary" Do you agree 7
Comment, 16
CREIT U SR B ¢ R I wewd § 7 e i

16

What are the advantages of Personal selling ? Discuss its

iimitations. 10+6
YO REw @ fada @ oA ¥ 7 ol gel B o
EAIE L. 10+6

What are the various reasons for rapid growth in sales

promotion? What are its advantazes and limitations ?

54+6+5=16
Pen dEm 4 A e A aw e ¥ 7 Be dede 3 e
AR Amd Fr § v $4645-16
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Printed Pages: 3

OBCM /M-17
HUMAN RESOURCE MANAGEMENT-II
Paper—BC 406 (iv) opt (iv)
Basics of Human Anatomy

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is
Compulsory. All questions carry equal marks.

T : g 99 geR F o ) gew gew 1 st &
adl gt & o gy &1

Compulsory Question (AWad 957)

1. (@) Discuss the objectives of Human Resource

Development. 3
(b) What is the distinction between 'On the Job training’ and
'Off the Job Training’ ? 2
(¢}  Discuss 360° Performance Appraisal. 2

(d) What are the adverse effects of Labour Tumover and
Absenteeism ? 3

{e)  Write a shoitnote on'Industrial Relations in India’. 3

(v What i the significance of Human Resource Audit ?

2%,
(F) o3 U EE RS2 & oty s 3
Gy wn e dfE Spd B oanet afaer F my arm 27 24
(M 3000 e TRy a9 F 2

12723 [ Turn over




(2)

(®) = oRads @ sqeRedEr & o ghvg mwe ¥ 7

-~

2
() 9RT { i wdl W uF A e B 3
(8) TS GEET SiHET  oad Jee § 7 204

Define Human Resource Development. Describe the

instruments of HRD. 16
AFE Hare g B ot ST o 5 Sua @ Al
I | 16
What do you understand by training ? Discuss its characteristics
and significance. 16
SR & 1T H T A B 7 AR B @t aur 9Eed I g
L | | 16
Define "Performance Appraisal’. Discuss the various methods
of Performance Appraisal. 16
Pt i @ ORI & q gwE Rt R @ aoi
| 16

What are the purposes of 'Promotion' ? Compare the merits

and demerits of Promotion from 'Within' and 'Direct

Recruitment'. 16

T & A R ¥ 7 Hen § @A v rww wd g

¥ W F U T H qeeTs gedieT S 16
12723

(3)

I:xplain the different types of Transfer'. What are the essential
aspects of a sound transfer policy in an organisation ? 16

I & R 9BRT # goi #0  d e & oresdt e
AT P oIS ag HT A ¥ 7 16

Define the concept of Industrial Relations'. Discuss the

approaches and components of Industrial Relations. 16
i gt B R AR qar S TE vaEE o
fremaraall & aviq #1) 16

Discuss the objectives and forms of Industrial Democracy. 16
AP e & SRl qw e v F 16

What are the causes of unsatisfactory labour relations ? What
steps should be taken by the management to improve industrial

relations ? 16
SIS S T & = FRT ¥ ? i gy B
fore g ® F-F FEW M =Ry ¢ 16
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thy Also find out. what wili be the wmpact on B
under the following cases S+58-5=18

{1y Fixcd cost merease by 10%

(1) Nurtable cost decrease by 107,

- Ol
HJOTTHT &Y e

(i o g v, & giz

(Y HrEASYTE A Holov, ¥ OFERD

Explam the concept of cost reduction. What are its

advantages and Hmitaiions. 3+6+6=15

.n

P T OFRA] R AIHERIT TTE IS0 TOE o A S c
FE 7

Define standard costing and discuss 1ts advantages and
limitations.

FATT AT el i AfEn ) rme A 3 A
=1 Fyaga wfar

[L-12738 4 19,100

RoHNO. o

Total Pages : (4

BCQ/M-17 12738
MANAGEMENT ACCOUNTING
BC-60]
Time : Three Hours] [Maxunum Marks @ 80
Note : Q. No. I iscompulsory. Attempt any four more questions
from the remaining eight questions.
v W | wfEd ko ovm o9 wvd H 9 FE 9m
AR Wy FHT
I. (a) Discuss the scope of Management Accounting. 4
TEMFHRA FEET F 4T H AU FHET |
(b)  What arc the components ot cost control 7 4

5

= o= % gued ¥ ¥ 7

(c)  What are the six C’s for successful implementation

of Total Qualitv Management 4
A [UETl YA ® AW A F e e tH
N OE 7

(d} Define Zero base budgeting. 4

YA MR A9 H qffed it |

(e) Discuss the objectives of standard costing. 4

g o fafy % 3Eve sdEuw

(3-03:3) L-12738 P.T.O.



<o Detme Managenonm Voo diz Diseuss it nature and o What s Pesponsihiliny o

Characteristics, Also discuss s advant

DNPOTGING ., IL6+6=15

TASETT P ] T 6

5. Explam the dirferent Cpes ol badget on i basis of e,

3o Wit the elp o e TRITINIeY Coar 00y activiny, funciions and Nexibitiy. Re545-14
Propare e buduar S e ducton ar sty qd lou, TELOAE A AT R g = Tm F gws o
CAPUCHY IS . s
Production at oon,, vapaciny OOU units 6.  What do yYou man by Zore base Budgeting 7 Discugs s
Materiai Rs 100 per unit advantages and Himitations, 3+6+6=15
Labour Rs. 40 ner unit ISR A5 R g T OTHE MM T
, . ST AT T _
LExpenses Rs. 10 per unit :
Factory oxpenses R <0000 1407, tixed) 7. ta) Find out the BEP (it umits) on the busis of the
Administianon cxopenses Rso 30000 (00%, fived) follosing figures
- _- ;.
O0Y afHA o 1Al 7o iqTrT HHEET 5T Heygr g S0y . , h
o i i ) Hixed coy L.O0.0060
qedl 1oue,, 73 57 PRl B T B e i OO s : . : . )
(11} 9Opnee perounit 1)
OV AfHET WY Ty GUL ST G Narable cos per unit 0
qraT 100 597 gfg =72 FElEEs g % e w ma-fasge fam
Pad 40 Nﬁ.‘_ﬂ oiF ;mlofu.w ﬂgg ﬁ: =id mﬂq\duﬁ, :
. . - um.
=T L 79 gqfs weTe |
. . (1) TeE & RVYRII o
FRAF =g H.000 FT (309 Fixed) S o G
CTUI | T i o 2 He g [}
I A0 T (00% Fixed) i) W TR g e 6
|
1.-12738 2 (3-03:4) 1.-12738 3 P TA)
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Total Pages : 03

BCQ/M-17 12739
AUDITING
BC-602

| Maximum Marks : 80

Attempt Five guestions in all. Q. No. 1 1s compulsory
of five short tpe guestions carrving 4 marks each 1s
compuisory, Attempt forr questions from the remaiming
cicht questions carrving 15 marks cach.

uf=r v F T g w1 AEE

R

2 f9ed uerE w4 AF 2 S AR AR HEY W

,

I, THFE YA 1S FFE F 2 |

How dovs accounting ditler from Auditing ? Explain

anvy four points.

I wFAm A fFE v e 7 7 T ww
= %1 2 =

What is auditor’s responsibility with regard to
detection of frauds und errors 2

Fz TH YA F AA F AR HOSweR # O

)

What s audit Note-Book and its utidity

TEE T

427 P.T.O.
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tdi Eaplan Lo

JEEE F H¥ T == Ran AT

(ey Deline profossiona nusconduct

SIARTTE T

B TSR TN

How will v overvonie the

What 15 meant by internad cheek” V0 Sugeest a switable

svstem of intemnal cheek tor recording cash receipls and

cash pavments,

- AR
[GEEINEE P =

oo o audimne” Discuss the

“Vouching 1z the

importance of voud hoht of this staienent,

‘TR wEA F N2 T Tl 7L
= F| TEAEA mAE

. |

W by NVortfication 0 Give the objects

importance of verificaton.

TEUA T T sy 7 - WA R SETA AR HES AT

1
-1
o
=)
[BS]

TH OFOF F TR A

6.

9,

[REUK TN I e St 1]

What 15 auditor's report 7 Wrie a detatled note on

M )

qualtiied report

Discuss the rivhis, dutios and lHabilities ot the auditor of

iication of assers 7 How would

What i the object of e
vou verii the following

(a1 Goodwall

md and Building

(b L

(el Frade nyark.

=

1zvn 7 ¢ fGEiatEa =1 35T

() qm T e
1y AU TEE

wdostte 1he ellects ol e-Conmmaree

Detine e-Commerce
an Audit report.

P wEetE A aul SRATT
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BCQ/M-17 12743
CORPORATE GOVERNANCE
BC-607

Time : Three Hours! [Maximum Marks ‘80

Note : Attempt frve questions in 2 . No. 1 s compulsory.

- [P . . r
T T IGI 7 e IO UTEY
oy W I & 3Tl T TES OHEET ]

e lvatures of cormerate governance, 834

,
....j}llriﬂ:
VRS wH TR O

5

{by  Whur 1y Insidor trads

I o N -

<

]

{d) What do you undersiznd by Corporate Social

Résponsioility ?

¥ T ¥ OEHER B 7

fey  v'rat do you mean by clause 49 1m0 corperate

9]

oy

governanae

., . .
R rt e - ) TR s b ; ity
e WHET W tpause 497 " RTOAET AT AT ETA

TR E RS )



5&.

erstind by Comporsie Governance

for effective  corporate

govemance Y 15

e g e X L i
SIHE VRS A N s owEgd € 7w Wi anfirs

tbe the process of straregic development and

miplemanino: |3
RO R EORET
BT OITT ,

_-m1

arporate Governance ]

d ol Directors i India. 7

‘Corporcte Govemmance s 4 system and process by which

and controlled in the best interes:

h

Cxplomn this statsiment. 1

P ICE B ey

—
| %)
-3
4
Lo
i

6.

9.

ohalization bas affecied 1n CoIporaie goLernance

dia ? Discuss vinsous comporte disclosure practices
fellowed by 39358 h E,.‘:m. &

w7 ymfay faom 27

-

Discuss vanous issucs and problens 1o the way of

mapianation of aorate governance o India,

TUE wh I_im‘id.. & IS W

,,.
]
—
-
-
41
o
-
\_)

“orporate Governance
and Corporate Sccial  Responsibility, What s the
moportance of USSR present scenario 7 15
Tt (CSR) H

coaRTs TfeTT ¥ OCSR W W O 77

O S A
L S AR PR R o

Disciss the guideiines issued by ICAI for corporate

governance i india. 15
L_Mmm .f\,u. .m_.: = mﬂ..“m.ﬂm.qm u...a..m“. il 3 ~m>w NH«,.:_ Wuﬂiuw. M.m./u. q.a .N_M:l

(2-01/4) |.-12743 3 2,250



U & Rell Nau e, Total Pages : 04
B e

BCQ/M-17 12754
thy  MWhat is Communication Channel 7 Explam twisted COMPUTER APPLICATION
i advantiges and disadvantages. 6 BC(Voc.)-605

.

R VL. ST S U
O e AR HEY B T I TR

Advanced Computer Applications

Time : Three Hours] [Maximum Marks ; 60

Note 1 Attempt fhve questions i all Q. Noo 1 is compulsory,

ESG 15 BT

powys mEm 1 wheE

Compulsory Question

H= 75 #FO8 o
(¢ Wrie a ~hort nete on QS Maodel

QS1 wrzm 7 =iy

i Wrte a short nete on

.

127330 T 1 R0

Bty SIIRNETY B IR




T

,, mean by Web Browser ? Neme nig I What 15 Information Technology ? Explain its varicus
GrD=1 spolications 1 business. 12
Web WEW H w owd B2 W i3 omesd o N S e ¥ ) orun § e fafeer v s |
=E R
5. What s c-Commerce ? Explain the various e-Cominerce
Difterentiate between the following models. 12
(i TCP and UDP Protocol e-Fad = & 7 fufuys {-ed | & 3w wifae
) LAN & WAN, 12
PU?% Y u,m_.mu 7. (a)  What is meant by BISDN ? Write a summary on

the functions of various layers of BISDN. 7

LAY TOP g UDP
{53 LAN 79T WAN W255TS | BISDN @ 71 a1 & 2 BISDN ® fafy= w=q
% wa Fw "gw fafge o

T ) ..m.(a e - b, i . T . . . .
ATM  Reference Model and its  various {t)}  Discuss the advantages and disadvantages of ISDN,
shohicahons. . =
. 12 5
Refercnce HIEE R g T oAy sHE f{i it e . &
. Sl i ISDN & #=1% ae faifgy
.r..ﬂn.iu BRI
8. ‘Write short notes on the following :
Write short notes on the followin 3o
. R (#}  E-mail
{al Mesh Topology -
. (b} Google chrome
() Tree Topology ‘ _
z (¢) Net Banking
el zr Topology
) 4 £y 5 X 43
(4 Ring Topology. 12 {d) Web Page. - 4x3=12
- ~ - . o — 1= = T
Dt o dfhyg treyforn] ?ﬂ@ﬁ. . afafae v S feoafimt ._unﬂn@.ﬂ
©rMesh Topelogy (&) E-mail
Y Tree Topology (%) Google chrome
£1 Sy Topology () Net Banking
N . A AY ¥/ Ty
LT Rany Topology () Web Page.
2 (20315 L 12754(TR) 3 PT.O.
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BCQ/M-17 12755

COMPUTER APPLICATION (SAD-—Tart A)

BC-606

Time - Three Hoeurs) [Maximum Marks : 60

Note : Q. No 1 is compulsory. Attempt four questions from

|8

repiaining cight questions. All questiens carry cqual

Erg CE R w Fw IR Y
Attempt any four questions : Ixd=12

(1) Dcfine file organization.

(b)  Discuss the concept of MIS and DSS. How are they
related and differ ?

(¢} What 1s data dictionary 7 Explain 1.

(d) Explain the various quality assurancc factors.

(¢) Explain the types of system requirement.

(f)  What 15 preiect management ? Explam it

() wEA HUEA w T al

(3 MIS TS DSS FT FESTTT W FUA RIS

2040 L-12755(TR) P.T.O.
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the characteristics

1ents of system ? Explain

udy 7 Describe the

the suseess of the system”, discuss.
%.5% and cxplaiy the

e hetween unit esting

&

ju—
T~

ST =5

o S . e
BRI st e e

S T

R g R

H RIS var ', IRy 1

13 e :1..« Sy HvinveD i
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g

by Explain any aro output devices in detail. 7

e &1 sM3eye feamd ® fawgd @ FiQ |

‘a1 Discuss the various ways to connect to an internet.
7

e FAR FE & fafes e aanu |
(b) What do you mean by operating system ? What is
its role in a computer ? 7
S fomm F oM W owHed § 7 A A
Describe various printing, savings and formatting
commands in MS-Excel. 14

VS-Fxcel ¥ fifsn |fst qmn wibfEn FHOS WH o
FIAT |

| 12756(TR) 4 150

ROIINO. coreervincirerarenssssnes

Time : Three Hours]

Total Pages : 04

BCQ/M-17 12756
COMPUTER APPLICATION (PART A)
THEORY

BC(Voc.)-605(OMSP)

[Maximum Marks : 70

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

In addition to Q. No. 1, attempt four more questions.
All questions carry equal marks.

o utg T ® S AR | W wedl 1 siar
3| e ofifem ww iR wed wife | wef W
F % 9O ¥ |

1. (a) State the characteristics of computer.
FoqR ! fagiwad waEy |
(b) Differentiate between internal and external
commands of DOS.
DOS #1 Tl T «gd FAvEl § A FORl |
(c) Name any fouwr input devices.
fFsl wr e feagd & A9 WU |
(d) What are the default extensions of MS-Word, MS-
Excel and MS-PowerPoint files ?
MS-Word, MS-Excel @41 MS-PowerPoint files =3
fewree fomr 1 € 7
(2-03/10) L-12756(TR) P.T.O.



(e) Differentiate between Workbook and Worksheet. (iv) Deltree
Workbook e Worksheet ¥ &dR waEy | (v) Dir
(), ~What are a.\mao& ways to shut down PC in LINUX ? (vi) Diskcomp
LINUX ® PC & w2 TRA &W & fafb= @i (vil) RD
T ¥ ? .
. . o ) 4. (a) What are the various computing features on Mobil:
2. (a) Describe the working of digital computer with the Phones
rmw_u of its block diagram. _. 7 . uﬂu_ - o T
= AU HT eI W feeied FEge ® Hd . . .
(b) Differentiate between DOS and LINUX.
PRicica i L el di .
, ) o ) DOS dem LINUX H 3 938 |
(b) Describe the various applications of computers in
business. 7 5. What is paragraph formatting ? Explain various features
AR H R & fafa= o war &1 9o Fifeg | for paragraph formatting in MS-Word. 14
3 Exolain the followi 45 of DOS T wRERET = ® 2 MS-Word ® Ture widfin
. Explain the following commands o : .
. P fafy= favae saRy |
(i) Path
(1)  Attrib 6. (a) How will you apply transition and animation cffec:s
(in) Copy to slides 7 -
(iv) Deltree A9 e w o wEHT qen wHmE R #wH oA
o
(v) Dir F
. . (b) Explain any four types of slides in detail.
(vi) Diskcomp . - .
WRE & &k R YHR fawr 9 FaEu
(vii) RD. 14
pOS =i f=fafas FAvega =t e FHfE - 7. (a) While purchasing a computer what things shouid
(i)  Path be kept in mind 7 Write the configuration ot .
(i) Attrib latest PC. ) o
i) C TR Tied W fFE oA W sy W o
iit opy oo
’ =1few | FE6Fa9 PC % HIRRYA =aqny |
L-12756({TR) 2 (2-03/11) L-12756(TR) 3 P.T.C




RO NO. v iricinienen vnens

{v)

{2-29/9 L-12738

P.T.

o
EY

S



What are the re

"h

oD T w e _ e
fraafd o & = ES T TR

un

8. What do vou und
msirance In indi 7
wIE ToarfEes

, ,
s THF Qg

e
S

Ty e T v :
INSUrance | naplan various

5 9.  What is meant

ity nsyrance

osses and also

447215

. ——
R

TR i

b
—
b
)
b
2
3
e
[ ]
-~
n
o
™
b
Y
(==



Roll No. ....crvvvreeennn. Total Pages : 03

BCQ/M-17 12761
SALES PROMOTION AND PURLIC
RELATIONS-I!
ASPSM BC-606

Time : Three Hours] Maxinmum Marks ¢ 30

Note : Q. No. 1 is compulsory. Atlemyt four MOre questions
from the remaining eight questions.
WA Hem 1 offEd § 1 9 we T 4 9 e

EAE B T L

I.  Compulsory Question :
(i}  Public Relation 4
(11)  Sales Promotion 4
(iit) Publicity 4
(iv) Marketing 4
(v) Pre-testing. 4
stfard 799 .
(i) SF-TogE
(i) Foww dadw
(iii) TR
(iv) fagum
(v) =

(3-04/3) 1.-12761 P.T.O.



6.

112701

Define pablic relthon. What sre its teatures ? Alse exrlain

the tuncions of pubiic relaton, 15

TAEE 1 Wit ® w0 cmeT wmofaemamd ¥
TR R B s 3
wrire u dJetnled aote on the srowimp importance o1 sblic

reistion Mk tng 15

FIUHE W T F 5 3t ge v Tagd foaen fer

How are sales poomotion proglammes developed ~ What

are iheir uses in the murketing 7 15

e T vy Ty ogen Gafar Sd o9y ¥ oo

~

HF Tt o wog ymamTar }

Explun ir detnl the varnous (osis of public relatvms, 18

TR F Ay s @ fRawpE oI st

what sre o ethusal and local sspects of sales pramotion

and public relaticens ? 15

BT HE

dcvaluabng the ales promotion programmes can lead to

Actter situalton.” Comment on it 15

Cfawm v wriEe % genEd v oaEs foufy mw B

TTAT |

- 5 11 Foa
2 ao ESEIIE :

bt

fFa wrE A aaEer o dfams w sl weq

TEI< T8 FAHEgE

TG EFE T &

9 Write short notes,
() Awbho- s
a1 Handeorts i

it

(3-84/4) 1 -12761
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Vasimum Marks 080

Tl e

17

0. Noo 1 s compulsory.

Lok Coasting,

1ol profit ot an

St sreduet and Byv-product.

of non-integrated

1-12763(TR) 3 2.600 204N T TR TRY



o
3
¢

T RIS q Us TR TETET AR OEL 50,00 000

LT .

e e Bt T B B T L e B A

2 construction company undertook a contresr 0 Rs i
g FOH 430000
SooonGi for the construction of o college bus )
, . o T TETT Terod SN0
lowing expenditures were imcarred during the s~ oo
. LR St B ¥
Muterial directly purchased SRR
FOL0 000
Material issued from stores S . o
T L.65.000)
Plant installed (Cost) 33

A A A 4.23.000

Wages paid J 0100 T =] TN AT sAY # Te10 = T 0 nu0 T 9
Other expenses | 63,1y RO AR 1 50,000 % FW ZUT i 20000 FF T
: Fio2i000 FOH Am e | WAE AT F Sac0 B AT &

Accrued wages and other expenses 423 i AR ..,ﬁ j _ ! . n. o
Eﬁjﬁﬁﬁwﬂﬂﬂﬂjm&ﬁﬁ E|

ClLoaccount

Of the plant and material charged Wi the co FITEHT TR 2000 T, T, TR 29 F TN AEE A

2400000 F O] INA F F ATE 80, TEGA BE S
T= E0 0 TR T OFE 10000 FF A4 A FEndn

plant costing Rs. 20,000 and material cosung «

were destroyed. Material costing Rs. 20,0

for Rs. 25.004. Plant costing Rs. 5.000 was transferred o TET W | s, AGE T W TUH FHE T | FAN &
store at the last day of the vear and a pant of plant whose 7 YT T de Frea TR EIEL

cost was Rs. 2,000 became useless duc 1o damage. Work s s v -
i} 3. The joint products X, Y and Z are produced from a

. iy s 210000 s eerti o S i L . ] o~
costing Rs. 24.00 Ras cortthied $0%of which was common process. The joint expenditure of manufacture

received i ocash. Work done but not certified was Rs.

are
10,000, Deprecration plant « 10" per annum. Prepar Rs.
Contract account. Work m prowress account and Balance Miterial 57,000
Sheet. Labhour 30,600
Overheads 2,100

1~

L-12763(TR) Total £9.100

(2-0414H) L-12763(TR) 3 P.T.O.



SUbSCUUURE CVPenses

N

e D .
Material Jdo
Labour AR R ; 0
Overhead S
Sales i 5 P \
Estimated Profit on L A
Show that manner SUUIRS G .
JOINL CXpEnses o mrodinos o S ALl ol
showing the cost of car poodis i
T IAMeq N, Y A2 7 TRTT TR o wEmes 5=
T | H F HEad o4E A T .

IY=A

L-12763(TR) - 4

I

objecis o Prepare G transport operating cost b

miasirany tgures and discuss the vartous itenis

FIOSGIE 77 TAT T SRS

77 F oI
AN FwN A e ghmfem Shim w wmw

't

. Deseribe the term “lntegrated Accounting”™. Explain s

nciples. Ao state ihe advantages

essential reatures and

of integrated accounting. 1o

b 1

| ATEYTE ST A

TEIFA AEES L F g wma

~

gT w1 AvE AU | UEFA i F oend #1 off

15 Varlance Analyvais 7 Explain the possible causes

for Matertal Cost Variance and Labour Cost Variance. 16

T 7 AW A

SRR E- rarelie P s e B FIE

FOTTEH O AART

20415 -12703(TR) s P.T.O.



-}

Fhe expenises budget tor production of 10000 units 1 ;

lactory are Turished below -
DUr o unit

Material.

Labour 23
Vartable overhead 2t
Fixed overhicad Rs. 1.00.000) 10
Varmable expenses 5
Selling expenses 10, fixed i3
Distribution expenses 20% fixed 7
Administrative Expenses Rs. 30,000 3

Total ﬂ

Prepare a budget for the production of (i) 8000 units and

(1) 0000 units. Assume that administrative EXPENsSes are

rigid for all level of production. 16
FEEE T 10000 3FEA ¥ TR F = g9
a TEE

ESi i 70
g9 25

TEaAE 3ufsay 20
e i 1.00.000 % 10

L-12763(TR) 0

T BUARI Fi s 7
TTIITEE T SO (300) T 3

F 135
(1) s TETITOFRST (00 600 T # SEES L

M HIAHTAE A SERAT &

8. What do vou mean by Marginal Cosung ? Brietly evplain
s advantuges and Hmitanions, 16
T O FN OTHIA Z 7 THF N A4l S
5 H TR |
Y. The neeessary particulars are as (otlow
Year Sales (Ry.} Profit (Rs.)
RO 1,200 0 9000
Juil R 1 0060 13,000
Assume that the cost structure and selling prices remain
the same 1 2012 and 2013, tind o
() Profit-Volume ratio
thy Break-even-pomt for Sales
(c)  Profit at the Sales of Rs 16,000
(dy  Sale required 1o carn a profit at Rs,
te) Nargin of safer i 2013
(204 1o ] Z12703¢TR) 7 NN
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OBCQ/M-17 12764
MANAGEMENT ACCOUNTING AND
FINANCIAL MANAGEMEN'T-1
BC-603

Time : Three Hours] [Maximum Marks @ 80

Note : Paper consists nine questions moall. Q. No. 1 1s
compulsory. Attempt jour questions from the remaining
eicht. All questions carry equal marks.

TH T Y HA A WA F | WA Fmed | dEE
T e WY W O IR W YR RITAU ¢ T owe
* ¥F A E

1. Explam the following :
{1}  Trade Credit
(by  Ploughing Back of Profits
(cy  Bonus Share
(dy  Stable Dividend Policy

(c) thstorical costs
()

|FY)
+
“ad

+343+2+2=16

[

+

‘

Capital Gains.

(3] SHA-HE

(A) =T F
(W) FHE #Y
(2 Tt @y ST

.!
T~
l

(2-0212H] -12764 P.T.O.



aHF GANE
(E ) CEHmE T

i

Eaplam the techniques of forecastng working capitad. 16

& gl # YEAEE A T AFEAR] Rl T

What is MAT approach to capital structure 7 Explain. 16
IS 7= A TR,

w8 ?

Explain fully the Gordon's Model of relevance of dividend

pelicy. 16

What is mcant by deverage 7V Explain s types and
usefulness. 16
A w1 R A¢ 7 THE weW UF 39T w AT
AT |

Explain the meaning and tmportance ol cost of capital. 16
TH od # A9 TH Heed W ATA IS0

Explain the factors which determine the dividend policy
cf a company. 16
EAEIN

1.-12764 2

O, The detrt o dividend pard by Jacob Lide o exasting
cauiny shares of PO cach for Jast 6 vears are 2lven
below 10

Year bividend per share

4

1997 303

1908 3.20

1999 3.47

2000 3.0%

2001 35l

2002 4.02
The company has issued new cquity shares of £ 100 cach
and flotation cost 18 T 10 pey share. The expected dividend
to be declared for current year 1s ¥ 4.20. Caleulate the
cost of eguity,
qim § afEd o FU F fAw T 10 wid e g9 SEE
A e e e B e e R e

g ufe 3 =

4

1997 3.15

1908 3.30

1999 317

2001 3.63

2001 381

2002 4.02
FEET 1 TAE AT 100 I S FE E A
AT gem T 10 ufa s ¥ 1w e & f
E A T 420 F 1 R F O

(20113 ] 127604 3 2500
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OBCQ/M-17 12765
BUSINESS ENVIRONMEN1-1]
BC-604

Time : Theee Hours] PMasimum Marks ;- 80

Note : Q. Noo I s compulsory. Artemnt any Jour questions

m the remaining eight. Al uestions carry equal

by R

TEOREE ] ANTE B 4TH HE WEE W OE ORR ur

.4-%1 et e e
I ORNTE 1 AW ¥ % SRR LT

1. {a)  What is meant by Economic Planning 7 What is the

N

rouEa H oanfhw
e

present relovance of economic planning in India 73
e DL —_—— A
ATGF A 8 o afvuw #

-~

Fass w1 sdum geies

(b)  What do you mean by planning strategy ? 2

(¢) Explain the main achievements of Tentl: Plan. 3
T A W gEE eudferdl w1 oAavi FR

(d) Discuss various phases of business cycle.
=it a% w) fafoe sweeensd w5 s

(¢)  What do you mean by bilateral trade and multilateral
trade ? 3
fquela =R 7 @gmefe omr |/ amrw P
Y 7

(2-02/15) | -12765 P.T.O.
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16
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L
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Soatmean by Buanked propoesids

=3
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v
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L]
=1
_
‘N
b

hotween W

GATT  How  will VO

cerpotiation ? Discuss the bep

euong corparations on

2. What is mecant by foreion capital ? Give ity classification

Fxpluin the

e e N N
e AR es ﬂ,;.“ﬁ.
BRI CEY!

2021101112765 3

- What do vou mean bv WTO - Explain the difference

Tty

16

cficial

Indian

16
P HE
I

2,500
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OBCQ/M-17 12766
FINANCIAL MARKET OPERATIONS-II
BC-605 (Opt. i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt any four questions from the remaining n.m‘wE
questions. All questions carry equal marks.

w@ uie wwd & s fwe 1 yw dew 1 afEd
21 99 a3yl ¥ ¥ R ww v wmifag | R
T ofm wWIR ¥

1. Answer the following questions in brief :

(a) SEBI's Guidelines related to ESOP 3
(b) Objectives of SEBI 3
(¢}  Who are Market Makers and what do they do 7 2%
(d) Investor Protection Fund 2%
(e) Tyves of Credit Rating Agencies 2%

() Issue Management. 2
: 54 9E B I dery F @fem

(a) Tumald A wefim 29 @ few-few

(9) T & I

(%) a9 Fefm # oad § oft 3w oww@ ¥ 0

2-02/1ML-12766 P.T.Q2.
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n

P

(z) v v FiE
(z) T SR udtE % SR
) famad TEdE i

Eanil

What s ivesier 28 R R

and process & Redresra af Grievaness of Jnvestors, 4,02

EESC T TSI, u_ﬂﬂ.& ) l_,.ﬁwmfa E RS Bk
Who js $iBI 2 %/hat are Os luucuons Reniio e
SEBI guidetines reiated o The pubiic issug oi dpars

& owm P ooowms e owd £ S E
3 AR S T orn-frEv R wad

Whai do you mear oy Tnstitutinnal Tavestor 7 FExplzin o

T

detail the differsr rypes of netitytional Investors 412

o Frre 4 g ww weEs €7 fafgE TR

LT

P

What s an iigitality criterion for the registration of

tal

Srock Broker T Viso mention the general code of condudt
for the Stocx Broler #,10
py T H TR § HEr T gFeEg F &

R G GIEY

Wy Zee 3 HETE ARR

1-12766 p

What do you meai AT
the prirvisiony and ¢ e

HeTER R H U
Gy TR

e o #F

Who are Merohent UoaeeTs haroare 1@ e

related o the Yeghoo rion of Dleraes

,.é?u_: SUCIT PESEOT I T

S g FToow ¢ wAT ol ow TR

%ﬁﬁﬂ 91 m AR L - O e

Explain o detar! e oaraie o

Bankers (LM

Fd & geir oo SRRl e Fhy AT ORI

~Credit Rating s a «ivhal Phenomen s Hew rar dis
statement is true M TLLan contevt S 16

@ ST afgas TEtE R sz o - = S S | G

¢1-02/18)YL-12766 A] £50



